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(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates
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their own interest. Failing to comply with this provision will be considered as using unfair means in the examination and
action will be taken against them including cancellation of their candidature.
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English Language

Direction (1-10): In a passage given below there are 10

App :- htt

blanks, each followed by a word given in bold. Even
blank has four alternative words given in options (a),
(b), (c) and (d). You have to choose which word will
best suit to the respective blank. Choose (5) as your
answer if the word given in the bold after the blank is
your answer i.e  "No change requires".

_(1)_[Joint]_relations between India and Maldives
are on the brink once again as the deadline for India
to _(2)_[extract]_its two helicopters has passed and
the issue of visas for thousands of Indian job-seekers
remains unresolved.

The visas of more than 26 Indian Navy personnel
operating the Advanced Light Helicopter (ALH) were
valid till June 30. However, Maldives has refused to
_(3)_[lengthen]_their visas and has already asked
India to take back the two ALHs. “The Navy personnel
are in Maldives awaiting further instructions,” a
defence official said.

The two helicopters were gifted by India in 2013 and
one was _(4)_[activated]_by the Indian Coast Guard
and the other by the Indian Navy. The validity for the
Coast Guard helicopter had expired earlier this year
but the helicopter still remains there. End of May, the
visas of Navy personnel were extended by one month
after _(5)_[participation]_of External Affairs Minister
Sushma Swaraj.

Maldives Ambassador to India Ahmed Mohamed said
there had been no news on whether the issue over
the helicopters had been resolved, adding that the
matter was being handled “directly in Male.”

“What | know is that the helicopters were supposed to
be taken back by 30th [to India].” Maldives officials
also declined to comment and said the issue
_(6)_[are]_being dealt with by the Ministry of
Defence.

Hundreds of Indians say their jobs may be on the
_(7)_[row]_as tensions between the two countries
continue.

It is reported on June 14 about an estimated 2,000
Indian applicants who have been offered jobs in the
Maldives, but have not received work permits since
February. According to dozens of such applicants,
most employers have informed them that “Indian work
visas” are not being _(8)_[furnished]_at present, and
some have sent letters with deadlines of July 1, after
which they would fill their positions. Maldives sources
_(9)_[announced]_that they had received several
complaints about difficulties faced by Indians in
obtaining Maldivian work permits and the matter was
bein _(10)_[quested]_officially.

(1) shared (2) common
(3) bilateral (4) collective
(5) No change required

(1) validity (2) withdra
(3) issue (4) permits
(5) No change required

(1) had (2) might
(3) have (4) was

(5) No change required

(1) cord (2) string
(3) line (4) yarn

(5) No change required

(1) circulated
(3) supplied
(5) No change required

(2) distributed
(4) issued
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10.

(1) expand
(3) enlarge
(5) No change required

(2) widen
(4) extend

(1) operated
(3) driven
(5) No change required

(2) managed
(4) controlled

(1) interruption
(3) intervention
(5) No change required

(2) incursion
(4) negotiation

(1) admitted
(3) stated
(5) No change required

(2) unveiled
(4) declared

(1) investigated
(3) searched
(5) No change required

(2) explored
(4) pursued

Direction (11-20): Read the following passage carefully and

answer the questions given below it.

From the beginning of the 19th century, the British
East India Company's gradual expansion and
consolidation of power brought a major change in
taxation and agricultural policies, which tended to
promote commercialization of agriculture with a focus
on trade, resulting in decreased production of food
crops, mass impoverishment and destitution of
farmers, and in the short term, led to numerous
famines. The economic policies of the British Raj
caused a severe decline in the handicrafts and
handloom sectors, due to reduced demand and
dipping employment.  After the removal of
international restrictions by the Charter of 1813,
Indian trade expanded substantially with steady
growth. The result was a significant transfer of capital
from India to England, which, due to the colonial
policies of the British, led to a massive drain of
revenue rather than any systematic effort at
modernization of the domestic economy. Under
British rule, India's share of the world economy
declined from 24.4% in 1700 down to 4.2% in 1950.
India's GDP (PPP) per capita was stagnant during the
Mughal Empire and began to decline prior to the
onset of British rule. India's share of global industrial
output declined from 25% in 1750 down to 2% in
1900. At the same time, the United Kingdom's share
of the world economy rose from 2.9% in 1700 up to
9% in 1870. The British East India Company,
following their conquest of Bengal in 1757, had forced
open the large Indian market to British goods, which
could be sold in India without tariffs or duties,
compared to local Indian producers who were heavily
taxed, while in Britain protectionist policies such as
bans and high tariffs were implemented to restrict
Indian textiles from being sold there, whereas raw
cotton was imported from India without tariffs to
British factories which manufactured textiles from
Indian cotton and sold them back to the Indian
market. British economic policies gave them a
monopoly over India's large market and cotton
resources. India served as both a significant supplier
of raw goods to British manufacturers and a large
captive market for British manufactured goods.
British territorial expansion in India throughout the
19th century created an institutional environment that,
on paper, guaranteed property rights among the
colonizers, encouraged free trade, and created a
single currency with fixed exchange rates,
standardized weights and measures and capital
markets within the company-held territories. It also
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established a system of railways and telegraphs, a
civil service that aimed to be free from political
interference, a common-law and an adversarial legal
system. This coincided with major changes in the
world economy - industrialization, and significant
growth in production and trade. However, at the end
of colonial rule, India inherited an economy that was
one of the poorest in the developing world, with
industrial development stalled, agriculture unable to
feed a rapidly growing population, a largely illiterate
and unskilled labour force, and extremely inadequate
infrastructure. The 1872 census revealed that 91.3%
of the population of the region constituting present-
day India resided in villages. This was a decline from
the earlier Mughal era, when 85% of the population
resided in villages and 15% in urban centers under
Akbar's reign in 1600. Urbanization generally
remained sluggish in British India until the 1920s,
due to the lack of industrialization and absence of
adequate transportation. Subsequently, the policy of
discriminating protection (where certain important
industries were given financial protection by the
state), coupled with the Second World War, saw the
development and dispersal of industries, encouraging
rural-urban migration, and in particular the large port
cities of Bombay, Calcutta and Madras grew rapidly.
Despite this, only one-sixth of India's population lived
in cities by 1951. The impact of British rule on India's
economy is a controversial topic. Leaders of the
Indian independence movement and economic
historians have blamed colonial rule for the dismal
state of India's economy in its aftermath and argued
that financial strength required for industrial
development in Britain was derived from the wealth
taken from India. At the same time, right-wing
historians have countered that India's low economic
performance was due to various sectors being in a
state of growth and decline due to changes brought in
by colonialism and a world that was moving towards
industrialization and economic integration

Several economic historians have argued that real
wage decline occurred in the early 19th century, or
possibly beginning in the very late 18th century,
largely as a result of British imperialism. Economic
historian  Prasannan  Parthasarathi  presented
earnings data which showed real wages and living
standards in 18th century Bengal and Mysore being
higher than in Britain, which in turn had the highest
living standards in Europe. Mysore's average per-
capita income was five times higher than subsistence
level, i.e. five times higher than $400 (1990
international dollars), or $2,000 per capita. In
comparison, the highest national per-capita incomes
in 1820 were $1,838 for the Netherlands and $1,706
for Britain.(117) It has also been argued that India
went through a period of deindustrialization in the
latter half of the 18th century as an indirect outcome
of the collapse of the Mughal Empire.

Indian economic policy after independence was
influenced by the colonial experience, which was
seen as exploitative by Indian leaders exposed to
British social democracy and the planned economy of
the Soviet Union. Domestic policy tended towards
protectionism, with a strong emphasis on import
substitution industrialization, economic
interventionism, a large government-run public sector,
business regulation, and central planning, while trade
and foreign investment policies were relatively liberal
Five-Year Plans of India resembled central planning
in the Soviet Union. Steel, mining, machine tools,
telecommunications, insurance, and power plants,
among other industries, were effectively nationalized
in the mid-1950s.
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11.

12.

13.

14.

15.

16.

17.

19.

According to the passage what did the economic
policies of the British Raj cause?

(1) Commercialization of agriculture

(2) Decreased production

(3) A severe decline in the handicrafts and handloom
sectors

(4) Gradual expansion of the British Raj

(5) Transfer of capital

According to the passage what was India’s share of
the world economy in 19507

(1) 24.4% (2) 2.9%
(3) 9% (4) 4.2%
(5) 2%

According to the passage what was the cause for the
slow moving of urbanization until 1920s?

(A) industrialization and adequate transportation

(2) lack of industrialization and absence of adequate
transportation.

(3) rural population moved to the cities

(4) there was an urgent need for transportation

(5) All the above

Choose the word which as same meaning as the
word “impoverishment” printed in bold as used in
the passage.

(1) Rich

(3) Misery

(5) None of these

(2) Wealthy
(4) Improved

Choose the word which is most nearly the same in
meaning as the word “sluggish” printed in bold as
used in the passage.
(1) Rapid

(3) Speedy

(5) None of these

(2) Developed
(4) Indolent

Choose the word which is most opposite in meaning
of the word “captive” printed in bold as used in the
passage.

(1) Free

(3) Detained

(5) All the above

(2) Confined
(4) None of these

According to the passage what were the sectors
nationalized in mid-1950s?

(A) Business regulation and central planning

(B) Steel, mining, machine tools, telecommunications,
insurance, and power plants

(3) Agriculture

(4) Handicrafts and handloom sectors

(5) All the above

Which of the following statements is true in the
context of the passage?

(1) At the end of colonial rule, India inherited an
economy that was one of the richest in the developing
world

(2) Raw cotton was exported to India without tariffs

(3) The 1872 census revealed that 91.3% of the
population resided in cities.

(4) Urbanization generally remained sluggish in
British India until the 1920s

(5) All are true

Find the incorrect statement on the basis of the given
passage.

(1) India served as a large captive market for British
manufactured goods.

(2) India served as a significant supplier of raw goods
to British manufacturers
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(3) The British East India Company, had forced open
the large Indian market to British goods.

(4) It also established a system of a civil service that
aimed not to be free from political interference.

(5) None of the above

20. Choose the word which is opposite in meaning of the
word “coincided” printed in bold as used in the
passage.

(1) Match (2) Diverge
(3) Agree (4) Go along with

(5) None of these

Directions (21- 25): Rearrange the following sentences (a),
(b), (c), (d), (e), (f), and (g) in the proper sequence to
form a meaningful paragraph, then answer the
guestions given below them.

(@) How can we address the aspirations of a billion
people with such varying set of capabilities and
abilities?

(b) This is not to say that the child in the remote area
must not be cared for.

(c) However, we must be practical about how we do it
(d) The standard refrain from successive regimes is
to deliver a one-size-fits-all solution.

(e) India has 400 million people below the poverty line
and another 600 million in the lower middle class and
aspirant poor.

(f) Thus, we try to teach a child from a remote area
complex biology, chemistry, physics,
and mathematics and try to equate that child with
one in an urban set up.

(g) We must innovate ways to find, nurture, and
develop the Abdul Kalams of the future from such
remote areas.

(h) Such a large number spread across different
states each with a different language, tradition, and
practice does seem daunting.

21. Which of the following would be the FIFTH statement
after rearrangement?
@)c 2)e
39 (4)d
5)f
22. Which of the following would be the SECOND
statement after rearrangement?
1) a (2) h
3)b @) e
®)g
23. Which of the following would be the EIGHTH
statement after rearrangement?
@)d 2)b
3)h @4 c
5)f
24. Which of the following would be the FOURTH
statement after rearrangement?
(1)e (2 a
(3 b (4)d
®c
25. Which of the following would be the FIRST statement
after rearrangement?
f (2)e
(3h (OX°]
)b

Directions (26-30): In each of the question below, there is a
word given in bold which is followed by the five
options. In each of the option, a pair of words is given
which is either the pair of synonyms or antonyms or
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27.

28.

29.

30.
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synonym & antonym of the word given in bold-that
pair of words is as answer.

Augur

(1) Evaluate- estimate (2) Envision- visualize
(3) Emulsion - suspension (4) Afflict - worry

(5) Herald- portend

Unequivocal

(1) Clear- untidy

(3) Obvious- obscure
(5) Viable- stable

(2) Promotion- detention
(4) Coincides- commercial

Benign

(1) Submissive-support
(3) Cruel- begin

(5) Handsome- lovable

(2) Benevolent - malignant
(4) Prepare- start

Mandate

(1) Voice- invoice (2) Assume - guess
(3) Place- position (4) Order - directive
(5) Malpractice — misconduct

Tweak

(1) Pull — refrain

(3) Slow- small

(5) Mean- malicious

HINDI

(2) Speed-quick
(4) Engine- automatic

fder (1-5) frafaRRad e or ggaR S WR mETRd ue &

IR T |

TG 987 Jedad § 99 fedl & fou wear T8 2
R H 98 Afdd Ahedt U dRal 8 S 9EI &
|E STNT Bl

g faenfRl &1 7 e e o 21 go e
i &1 B q¥ @R I ¥ GO ARM W SR STl
fer a=d 21 @B

3T T JHR B a1 g9 7 A 21 T8 e W
&9 81 < | 39FT uRUM B & 5 9 e # fiss
S E |

oie H SO qE BT Ul | N SO B YR bR
el SOl B B | o WHI @ WgUANT d AT
|l SR AT BT

WE STNT BRI AHeAd JFBR Had L |

P fbell & fore =21 wawar?

(1) gy (2) 9711
(3) gar=HA (4) ==
() T

TG BT JBR AW BT F7 AclioT B 87

(1) 3= B # SRABErT (2) IR et 8

(3) wherd ffaa & (4) whrs & forg wRam
(5) 3T ¥ BIg TE

I TR B T G aret et gar a7
(1) Srherar (2) Aherar

(3) = (4) srgama

(5) ¥ ¥ I &

T BT HeudTE F AET S 27

(1) w77 & Shad H ST & HROT
(2) AHAAT BT AR B & HIROT
(3) Sugae <t

(4) wfaz & ferw

(5) T 9 Bz T
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5. Terel BT waifte Sugad fve gio—
(1) =Y BT AGUANT (2) 7 o1 AT
(3) |HI AHET BT MR (4) T 3R AHAd

(5) 37 W P13 7Tl

ke (6-10) - fav 7y ywAi & U@ Jefoud SR Ry v
g1 ST ¥ 98 SR BT gAg HIfrg—

6. "TEHOT U I Prichdl exx H Lo 8-
(1) <tewor (2) srdmar
(3) I (4) Suga
(5) 37 ¥ I TR
7. o=y Wi @1 fofy 8-
(1) urepd (2) TgTTR
(3) drett (4) ¥R
(5) 3T ¥ BIg Tl
8. fraifiax wrsg 7 forefoRad & d—ar yew 27
(1) =a (2) R
(3) =@ (4) ga
(5) 3T ¥ BIg Tl
9. 1 % 9 Sl avf dree 8k AR 87
(1) =% (2) ‘&%
(3) ‘Bx (4) wx
(®) =
10. 1 ¥ 9 Sex = BT 87
(1) efereR (2) gsur
(3) et (4) <rer
(5) faeme

fder (11-13) 9 v@% w1 # Ry W fawedl # 9 awH
TeE BT I DI

11. (1) IemE (2) et
(3) 3= (4) B
(5) =t

12. (1) %1 (2) ¥feai
(3) wret (4) @
(5) sit@

13. (1) ama (2) st
(3) R (4) g
(5) 3 | PIE 7TE

fder (14-16) f=foRad U awa & fav swa - g g
fpedl # 3 S UeR ol ffed S

14. 7 B8l HB AR, SAT Gl BB AR |

(1) W a1 (2) dgaw are
(3) A1 (4) &R qIa™
(5) ¥ ¥ ¥ &
15. FgER ¥ 98 fdeqge a9 & 8 O Swa o |
(1) =et gre (2) TgwT qIR
(3) st aray (4) RO AT
(5) 3T & BIs 7RI
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16. G BRY, TSR 91 |

(1) s=oTdarED (2) r=maras
(3) faferaras (4) ebaarad
(5) yedarD

fder (17-19) @ g W= Y MY | 9P @I a1 & forg
IR fiwey Ry v 2| 379 A UF fAdey # oeg ot
gE N & TS B MU S FE AN BT AT

HRAT B

17. (1) smHafis (2) smHR¥®H
(3) s (4) mHED
(5) MHIRAS

18. (1) el (2) wifielt
(3) wfirRef (4) wrfReh
(5) wRReM

19. (1) #eeha (2) srareiret
(3) FrfEet (4) maefia
(5) farareier

ke (20-22) fr=fafed vt & aR—aR Wf—faewg oy 1w
2| T8 faded T Hi?

20. LECIE)
(1) 7EH+3gf (2) wEH+R
(3) e (4) 7=+
(5) HeT+afd

21. TEATTHA
(1) FE+mTHA (2) FEF+HITTHA
(3) TE+IMTHA (4) FE+ITTHA
(5) TEg+rTHT

22. TeATex # e | &1 9anT 831 &7
(1) o1 ¥R (2) IO ¥aR wfy
(3) e wR AR (4) faet <dfy
(5) =S wfY

fader (23-25)-F=fRaa v e & forg Swa A Ry v
fadpedl § 9 SUYE AN BT IIT Y

23. FHAN
(1) gy (2) a7
() &=& (4) FHRY
(5) riMmE

24. RiC-L
(1) Tgsy (2) Tgfe
(3) BHuRY (4) srerivmEa
(5) g

25. dIRTET
(1) sgife (2) Ty
(3) srerdrg (4) fa1
(5) g

fader (26-28) Ffafad sl & omt wr—di= o= ey wTg
g1 30 ¥ Sfa yatward gax fRifkd -
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26.

27.

28.

Ul

(1) R (2) 3EBR
(3) rfHE (4) T

(5) g

GAIAX BT 31 T Bl I, SHBT TAT 37 T
(1) fawg (2) = e
(3) &= (4) @

(5) e

X B T 2

(1) el (2) ge

(3) g (4) =Tshard
(5) &7 & ®Ig TE

fder (29-30) @ 9B = A W T U_S & UE Jdfoud

29.

30.

e & T B, SugeEd aef BT T B |

AR BT Rk |

(1) <r=ar (2) g=x gari
(3) g=x I (4) I w@Rarel!
(5) g

TRAFX BT GAEFRT I FT 87

(1) == (2) faRy e
(3) v (4) gHTOT

(5) IMTHA

Quantitative Aptitude

Directions (31-35): What value should come in the place of

31.

32.

33.

34.

35.

guestion mark in the given questions?

8, 16, 34, 71, 146, ?

(1) 271 (2) 261
(3) None of these (4) 251
(5) 221

30, 30, 45, 90, 225, ?

(1) 570 (2) 630
(3) 510 (4) 675
(5) 480

232 231 223 19% 132 ?
@7 25
39 411

(5) None of these

22 68 160 344 ? 1448
(1) 714 (2) 712
3) 717 (4) 709
(5) None of these

586 442 341 278 242 ?
(1) 224 (2) 219

(3) 225 (4) 226

(5) None of these

Directions (36-42): What value should come in the place of

36.

37.

App :- htt

question mark in the given questions?

2/7 of 5/6 of 3/8 of =790
(1) 8848

(3) 8748

(5) None of these

(2) 8448
(4) 8248

(140%550) + (12.5%400)+(33.33%306)=?
(1) 780 (2) 922
(3) 824 (4) 775
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39.

40.

41.

42.

(5) None of these
V5929+3364+\4761=?
(1) 204

(3) 254

(5) None of these

(2) 224
(4) 234

?/10 of V676=130/? of V64
(1) 30

(3) 18

(5) None of these

(2) 20
(4) 40

(762+3)x(120%80)+2116="

(1) 24500 (2) 26500
(3) 23800 (4) 27850
(5) None of these
4898-6234+5325-1294="

(1) 2595 (2) 2495
(3) 2965 (4) 2695

(5) None of these

(20%280)+(\729x9)+123 = ?

(1) 332 (2) 542
(3) 324 (4) 422
(5) None of these

Directions (43-47) : Study the following table carefully and

43.

44,

45.

46.

47.

answer the questions based on it.

Slum population as percent of total population in 2011
City A B C[D|E | F |G
| Total
Population 876 | T8.4 T24 | 648 | 483 | 282|222
(inlakh)
Slum
Population | 40% | 32% | 25% | 26% | 24% | 20% | 15%
{in
Percentage)

What was total slum population in the year 2011 of
city D and city E together?
(1) 26 lakh

(3) 28.45 lakh

(5) None of these

(2) 27.88 lakh
(4) 29.2 lakh

The city with the highest slum population in year 2011
was —

1)c 2B

(3)D @A

(5) None of these

What was the total slum population in the year 2011
of city A (approximately)?
(1) 31 lakh

(3) 32 lakh

(5) None of these

(2) 35 lakh
(4) 34 lakh

The difference in the slum population of city G and
city F in the year 2011 was —

(1) 1.40 lakh (2) 1.70 lakh

(3) 1.50 lakh (4) 2.31 lakh

(5) None of these

The slum population of city B in year 2011 was
(approximately) —
(1) 24.5 lakh
(3) 25.1 lakh
(5) None of these

(2) 25.5 lakh
(4) 27.5 lakh

Directions (48-52): What approximate value should come in

the place of question mark in the given questions?
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48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

32.123x41.98%x23.9=?

(1) 32256 (2) 39623
(3) 32983 (4) 38526

(5) 31256

(9/3)+ (5/27) + (3/243) + (7/9)="

(1) 2 )5

(3) 4 4)1

(5)7
353.02x1.93-242.34+(565/5)+130.923="
(1) 729 (2) 753

(3) 708 (4) 792

(5) 630

(16.6%o0f 1296)-(10.8%o0f 898)="

(1) 149 () 122

(3) 115 (4) 106

(5) 132

34.867-15.975-8.1491-1.543="

1) 12 )9

(3) 15 (4) 18

(5) 21

The probability of selection of 3 students in a school
is 2/5, 5/6 and 4/7 respectively. Find the probability
that at least one of them get selected.

(1) 17/70 (2) 24/55
@ 12724 e

Ratio of Prabhu, Sasi and Gokul's salary is 5:6:7,
while ratio of Prabhu, Sasi and Gokul's saving is
3:3:2. If Prabhu’s expenditure is 25% of his salary,
then find Gokul's expenditure is what percent of his
salary?

(1) 23.28%
(3) 16.28%
(5) 84.28%

(2) 82.28%
(4) 64.28%

In a group of 80 male and 5 female, each male got
pen that are 15% of the total number of male and
each female got pen that are 20% of the total number
of male. How many pens were there?

(1) 1453 (2) 1234

(3) 1040 (4) 1012

(5) None of these

The speed of boat in still water is 8km/hr. A man can
row his boat against the current at 4km/hr. what is the
speed of downstream?
(1) 8km/hr

(3) 16km/hr

(5) None of these

(2) 12km/hr
(4) 2km/hr

The ages of Sam and Sudha are in the ratio of 4:5.
After 12 years the ratio of their ages will be 7:8. What
is the difference in their ages?

(1) 5 years (2) 4 years

(3) 6 years (4) 8 years

(5) None of these

Directions (58-62): Each question contains a statement

App :- htt

followed by Quantity | and Quantity Il. Read the
contents clearly and answer your questions
accordingly.

(a) Quantity |1 > Quantity Il

(b) Quantity | = Quantity 11

(c) Quantity 1l > Quantity |

(d) Quantity 1l = Quantity |

(e) Quantity I = Quantity Il or Relation cannot be
established

bit.ly/TesMusPrime
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58.

59.

60.

61.

62.

63.

64.

65.

Quantity I: If some amount becomes 16 times in 6
years. Find rate of interest?

Quantity 1l: What is the simple interest at the ends of
2 years on a sum of Rs.1250 at 10% per annum?

(1)a (2)b
3)c (4)d
(5) e

Quantity I: A sells to B a desk at 10% profit, B sells it
to C for 25% profit. If C pays Rs.550 for it what is the
price at which A bought the desk?

Quantity II: Esai sells mobile at a loss of 12%. If he
had sold it at a profit of 18%, he would have earned
Rs.90. What is the cost price of the chair?

1) a @b
B¢ (4)d
(5) e

Quantity I: How many kg of rice costing Rs.20/kg
must be mixed 12 kg of rice costing Rs.6/kg, so that
the resultant mixture costs 8/kg?

Quantity 1I: There is a 90L solution of water and milk
in which milk forms 88%. How much water must be
added to this solution to make it a solution in which
milk forms 72%7?

Da @b
QR c 4)d
(5) e

Quantity I: 14 men can complete a piece of work in 6
days. In how many days can 42 men complete the
same piece of work?

Quantity II: 70 women can do a piece of work in 30
days. How many women would be required to do the
same work in 50 days?

1) a )b
()¢ 4d
(5)e

Quantity I: The product of two consecutive odd
numbers is 7743. Which is the greater of the two
numbers?

Quantity 1l: Two numbers are less than the third
number by 25% and 27% respectively. By how much
percent is the second number less than the first
number?

1) a )b
Q) c 4d
(5) e

A, B and C start a business each investing Rs.13000.
After 6 months B withdrew Rs.8000, C withdrew
Rs.3000 and A added Rs.7000 more. At the ends of
one year the total profit of Rs.148000 was recorded.
Find the share of each?

(1) 66000, 36000, 46000 (2) 34000, 17000, 23000
(3) 18000, 23000, 33000 (4) 17000, 34000, 23000
(5) None of these

If three coins are tossed together, then find the
probability that all coins have the same face.

(1) 2/5 () 1/3
(3) 3/4 (4) 1/5
(5) 1/4

Marked price of an article is 50% more than the cost
price. If the shopkeeper gives discount of 10% and
cost price of that article is Rs 100 and he sale his 40
articles, then find the profit earned by him.

(1) Rs 943 (2) Rs 1464
(3) Rs 1400 (4) Rs 862
(5) Rs 1214
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Reasoning Aptitude

Directions (66-70): Read the following information carefully
and answer the questions given below.

Ten persons are sitting in twelve seats in two parallel
rows containing five people each, in such a way that
there is an equal distance between adjacent persons.
In row 1, Philip, Peter, Alex, Adam & John are seated
and all of them are facing south, and in row 2,
Mathew, Smith, Davis, Paul & Max are sitting and all
them are facing north. One seat is vacant in each
row. Therefore, in the given seating arrangement
each member seated in a row faces another member
of the other row. All of them like different birds i.e.
Eagle, King fisher, Peacock, Crane, Parrot, Macaw,
Sparrow, Owl, Penguin & Hen.

Davis sits third to the right of Max and likes Macaw.
Only two people sit between vacant seat and the one
who likes Eagle. John likes Owl. The one who likes
Crane faces the one who likes Peacock. Neither Paul
nor Mathew sits at an extreme end. John faces
Mathew. Vacant seats are not opposite to each other
as well not at any extreme ends. Two seats are
between Philip & John, who sits fourth to the right of
the one who likes Parrot. The one who likes Hen
faces the one, who likes Sparrow. The person who
likes Crane and Owl are adjacent to each other.
Vacant seat in row 1 is not an immediate neighbour of
Philip.. Three seats are between Mathew & Davis.
Vacant seat of row 1 does not face Paul also does not
sit at any of the extreme ends. Adam likes Hen. The
one who likes Eagle faces the one who likes Owl.

66. Who sits diagonally opposite to the one, who likes
Parrot?
(1) Davis (2) Peter
(3) Mathew (4) Smith
(5) None of the above

67. Which of the following statement is true regarding
Penguin; If the person who likes Penguin sits in row
1?
(1) The one who likes Penguin sits third to the left of
Peter

(2) The one who likes Penguin is not an immediate
neighbour Hen

(3) The one who likes Penguin sits to the immediate
right of the one who likes Parrot

(4) The one who likes Penguin sits at one of the
extreme end of the line.

(5) The one who likes Penguin faces the one who

likes Eagle.
68. Who sits second to the right of the one, who faces the
Vacant seat of Row 2?
(1) Peter (2) John
(3) Adam (4) Alex
(5) None of the these
69. Which of the following bird does Smith Likes?
(1) Crane (2) owl
(3) Peacock (4) Sparrow
(5) Hen
70. Parrot is related to Hen of row 1 in the same way

Mathew is related Paul. So, following the same
pattern vacant seat of row 2 is related to which of the

following?
(1) Max (2) Davis
(3) Paul (4) Mathew

(5) None of the these
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71. If ‘Norway’ means ‘+’Sudan’ means ‘+’, ‘Russia’
means ‘-' and ‘Israel’ means ‘x’ then
800 Norway 400 Russia 50 Israel 90 Sudan 1200 = ?
(1) 3298 (2) -3298
(3) 3241 (4) -3241

(5) None of these

72. If the digits of the number 4567291023453 are
arranged in descending order, how many digit's
position will be changed after rearrangement?

(1) One (2) Five
(3) Two (4) Three
(5) None of these

73. In a certain code language AFGHANISTAN is written
as MZGHRMZSTUZ and BAHRAIN is written
as MRZISZY then how will CAMEROON be written in
that code
(1) MXZNLLIV
(3) MLILVNZX
(5) None of these

(2) MLLVZNXI
(4) MLLIVNZX

74. If all the letters in the word AHMEDABAD are
rearranged according to the English alphabetical
order then the position of how many letters will be
changed after the rearrangement?

(1) Four (2) Two
(3) One (4) Three
(5) None of these

75. How many English meaningful words can be formed
with the letters R, A, L, E using each letter only once
in each word?

(1) None (2) One
(3) Two (4) Three
(5) More than three

Directions (76-79) In the following questions the symbols @,
#, $, % and © are used with the following meanings
as illustrated below:

“C@D” means ‘C is not greater than D’

“C#D” means ‘C is neither smaller than nor equal to
D

“C$D” means ‘C is not smaller than D’

“C%D” means ‘C is neither greater than nor equal to

D

“COD” means ‘C is neither smaller than nor greater

than D’.

Now in each of the following questions, assuming the

given statements to be true, find which of the two

conclusions | and Il given below them is/are definitely
true and give your answer.

76. Statements: ACB@QDWE@GSH,FHWA GO©J
Conclusions: I.F % E N.J#B
(1) Only conclusion | is true.
(2) Both conclusion | and Il are true.
(3) Only conclusion Il is true.
(4) Either conclusion | or Il is true.
(5) Neither conclusion I nor Il is true.

77. Statements: P¥ Q@ R%SOT#WSI, KOS@L
Conclusions: . Q#W I.R% L
(1) Only conclusion | is true.
(2) Both conclusion | and Il are true.
(3) Only conclusion Il is true.
(4) Either conclusion | or Il is true.
(5) Neither conclusion I nor Il is true.

78. Statements: ACB@DWE@GS$SH,FHA; GO©J
Conclusions: I.A# B I.D©J
(1) Only conclusion | is true.
(2) Both conclusion | and Il are true.
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(3) Only conclusion Il is true. (3)c 4d
(4) Either conclusion | or Il is true. (5) e
(5) Neither conclusion I nor Il is true.

86. Statements: All paint are brush.

79. Statements: X@YO©Z%U; Z@V No brush is a colour. All wall are colour.

Conclusions: I. V# X I.VOo© X Conclusions: i. Some paint can be wall
(1) Only conclusion | is true. ii. No colour is paint
(2) Both conclusion | and Il are true. Q) a 2)b
(3) Only conclusion Il is true. 3)c 4d
(4) Either conclusion | or Il is true. (5) e
(5) Neither conclusion I nor Il is true.

87. Statements: Some flowers are fruits.

Direction (80-84): Study the following information carefully No fruits are seeds. All seeds are plants.
and answer the questions given below. Conclusions: i. No plants is flowers
ii. All plants being fruits is a possibility

There are seven persons M, P, Q, R, S, T and V are 1) a 2)b
in different weights but not necessary in the same 3)c 4d
order. (5) e
Only one person is between P and Q, who is lighter
than M. There are only two persons are between S Direction (88-90): Study the following information carefully
and M. S is not the heaviest person. As many and answer the questions given below.

persons are heavier than R is same as lighter than T.
P is heavier than only two persons. S is heavier than
both R and V. The second heaviest person is 88 kg
and S’s weight is 54 kg.

There are eight persons in the family with three
married couples in the three different generations. K
is the only daughter of P. V is the son-in-law of M. T is
the father of G. R is the maternal grandfather of G. R
is the father of V. M has only one child and not the

80. I(-llc)JVéLneany persons are in b(ezt)wﬁﬁrgs and T? mother of S. S is the sister-in-law of K. P is married to
(3) Four (4) Two R. G is the nephew of V.
(5) Cannot be determined 88. If ‘X’ is the daughter of S, then how is G related to X?
81. If the weight of T is 2 times of R, then what will be the g; ﬁic‘);::s;n gig gformg\rlv
difference between the weights of R and S? (5) Sister
(1) 22 kg (2) 10 kg
(g) h?)rlfg of these (4) 32 kg 89. How is P related to S?
®) (1) Sister (2) Daughter-in-law
82. How many persons are heavier than Q? gg gﬁﬁtsym (4) Mother-in-law
(1) None (2) One
g; -'I:-\gl?r (4) Three 90. How many males are there in the family?
(1) Four (2) Three
. . ) . 3) Five (4) Six
83. What will be the possible weight of V (in kg)? ( .
(1) 49 @) 58 (5) Cannot be determined
g; gi & 91. How many such pairs of letters are there in the
word ‘FREQUENCY’, which has as many letters
. . . e
84. Who among the following is the heaviest person? ?Btvswiexen them as in the En%g??ﬁ:ggabetlcal seres:
()R @V (3) Four (4) Two
(3) M (P (5) Five
(5)Q
92. In the word ‘COMPLAINTS’, if all the letters in the

Directions (85-87): In each of the questions below are given
two/three statements followed by two conclusions
numbered | and Il. You have to take the given
statements to be true even if they seem to be at
variance with commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given
statements, disregarding commonly known facts.
Give answer
(a) If only conclusion | follows.

(b) If only conclusion Il follows.

word are arranged in ascending order as in the
English alphabetical order from left to right. Then,
how many letters in the word remains in the same
position as in the original word?

(1) None (2) One

(3) Two (4) Three

(5) More than three

Direction (93-97): Study the following information carefully
and answer the questions given below.

(c) If either conclusion | or conclusion Il follows. Some people are sitting in a straight line and all of
(d) If neither conclusion | nor conclusion Il follows. them are facing north. K sits fifth to the left of T. There
(e) If both conclusion | and conclusion Il follow. are two persons sitting between T and Q. F sits eighth
to the right of W, who is an immediate neighbour of T.
85. Statements: All birds are animals. Not more than four persons are sitting to the left of W.
No birds is a human. Five persons are sitting between Q and S, who sits at
Some human are mammals. one of the extreme ends of the line.

Conclusions: i. Some mammals are not birds
ii. All human are animals
1)a @2)b
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93.

94.

95.

96.

97.

98.

How many persons are sitting to the right of F?
(1) Five (2) One

(3) Two (4) Three

(5) None of these

Who among the following sits at the extreme left end
of the row?

T (2w

3 Q @ F

B K

Who among the following sits 8™ to the left of F?
Vs 2w

(3K @T

®Q

M is sitting second to the right of Q, then what will be
the position of M with respect to F?

(1) Second to the right (2) Second to the left

(3) Immediate left (4) Third to the right

(5) Fourth to the left

How many persons are sitting in the row?

(1) 14 (2) 12
(3) 18 (4) 15
(5) 13

In a class of 47 students, Anil is ranked 27 from the
top and Mukul is ranked 35" from the bottom. Then,
how many persons ranked between Anil and Mukul?

(1) 14 (2) 12
(321 (4) 13
(5) 15

Direction (99-100): Study the following information carefully

99.

100.

App :- htt

and answer the questions given below.

Amal starts walking from point T towards north for 3
km and reach point M. From point M he turns right
and walking for 9 km to reach point B. Then he walks
south for 5 km to reach point S from the point B. From
point. She walks towards west for 7 km to reach point
J. After that he took a left turn and walks for 6 km to
reach point D. Finally he moves towards west for 2km
to reach point P.

What is the shortest distance between the starting
point and point P?

(1) 7.5 km (2) 2N2 km
g; g ||:m (4) 872 km
m

In what direction is point D with respect to point B?

(1) South (2) South-west
(3) North-east (4) South-east
(5) North

Space for rough work
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Ans.1(3)
Ans.2(2)
Ans.3(4)

Ans.4(3)

Ans.5(4)
Ans.6(4)

Ans.7(1)

Ans.8(3)
Ans.9(1)
Ans.10(4)

Ans.11(3)

Ans.12(4)

Ans.13(2)

Ans.14(3)
Ans.15(4)
Ans.16(1)

Ans.17(2)

Ans.18(4)

Ans.19(4)

Ans.20(2)

Ans.21(5)
Ans.22(2)
Ans.23(4)
Ans.24(3)
Ans.25(2)
Ans.26(5)

Ans.27(3)
Ans.28(2)

Ans.29(4)
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English Language

According to the sentence “bilateral” will be used
as it means “two-sided”.

According to the sentence “withdraw” will be
used as it means “remove / take away”.
According to the sentence “was” will be used as
the sentence is based on past.

According to the sentence “line” will be used as
the meaning of the phrase “on the line” is “at
risk”.

According to the sentence “issued” will be used
as the meaning of “issue” is “hand out/ give out”.
According to the sentence “extend” will be used
as it means “continue / stretch/go on”.

According to the sentence “operated” will be
used as the meaning of “operate” is “function /
work”

According to the sentence “intervention” will be
used as it means “interference”.

According to the sentences “admitted” will be
used as the meaning of “admit” is “confess”.
According to the sentence “pursued” will be
used as the meaning of “pursue” is “follow”.

It is clearly mentioned in the passage that the
economic policies of the British Raj caused a
severe decline in the handicrafts and handloom
sectors, due to reduced demand and dipping
employment.

In the passage it has been clearly mentioned
that under British rule, India's share of the world
economy declined from 24.4% in 1700 down to
4.2% in 1950.

It has been clearly said that urbanization
generally remained sluggish in British India until
the 1920s, due to the lack of industrialization
and absence of adequate transportation.
Meaning of the word “impoverishment” is misery
/ insolvency / poverty

Meaning of the word, “sluggish” lethargic /
indolent / slow

Opposite meaning of the word “captive” is, free /
let loose / unlocked

In the last paragraph of the passage it is clearly
mentioned that Steel, mining, machine tools,
telecommunications, insurance, and power
plants, among other industries, were effectively
nationalized in the mid-1950s

It is clearly said in the second paragraph that
Urbanization generally remained sluggish in
British India until the 1920s due to the lack of
industrialization and absence of adequate
transportation

It is clearly stated in the 2nd paragraph in the
passage that it also established a system of
railways and telegraphs, a civil service that
aimed to be free from political interference, a
common-law and an adversarial legal system.
Opposite meaning of the word, “coincided” is,
disagree / diverge / deviate

The arrangement is EHADFBGC

The arrangement is EHADFBGC

The arrangement is EHADFBGC

The arrangement is EHADFBGC

The arrangement is EHADFBGC

Meaning of the word ‘augur’ is- portend / foretell/
herald

Meaning of the word unequivocal is — obvious /
apparent / and opposite is obscure

The meaning of the word benign is, gentle, kind,
benevolent and opposite is malignant

Meaning of the word mandate is- permission, /
order / directive

Ans.30(1)

Ans.1(2)
Ans.2(1)
Ans.3(2)
Ans.4(3)
Ans.5(1)
Ans.6(3)

Ans.7(2)

Ans.8(1)

Ans.9(1)

Ans.10(4)

Ans.11(3)

Ans.12(1)

Ans.13(2)
Ans.14(2)
Ans.15(3)

Ans.16(2)

Ans.17(2)
Ans.18(4)

Ans.19(3)
Ans.20(3)

Ans.21(2)
Ans.22(3)
Ans.23(3)
Ans.24(3)
Ans.25(4)

Ans.26(2)
Ans.27(3)
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Meaning of the word “ tweak” is pull, force, press
and the opposites —push/ refrain,
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Ans.28(2)
Ans.29(3)

Ans.30(3)

Ans.31(3)
Ans.32(4)

Ans.33(1)
Ans.34(2)

Ans.35(4)
Ans.36(1)

Ans.37(2)

Ans.38(1)

Ans.39(2)

Ans.40(2)

Ans.41(4)

Ans.42(4)

Ans.43(3)

Ans.44(4)

Ans.45(2)

Ans.46(4)

Ans.47(3)
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Quantitative Aptitude

30x1=30

30x1.5=45

45%2=90

90%2.5=225

225x3=675

_13' _23’ _33’ _43’ _53

+46, +92, +184, +368, +736

-122, -10?, -82, -62, -4?

2/7 of 5/6 of 3/8 of ?=790
?=790x(8/3)x(6/5)x(7/2)

=79%x8x2x7

=8848

= (140%550)+(12.5%400)+(33.33%306)

= 770+50+102

= 820+102=922

=15929+/3364+4761

=77+58+69=204

?/10 of ¥676=130/? of V64

x/10 of 26=130/x of 8

x? =400

x=20

(762+3)%(120%80)+2116="
?=(762+3)%(120%80)+2116
?=254x96+2116=26500

= 4898-6234+5325-1294

= 4898+5325-6234-1294

10223-7528

2695

? = (20%280)+(V729x9)+123

?=56 + 243 + 123

?=422

Population of D = 64.8 lakh

Slum population = 26% x 64.8 lakh = 16.85 lakh
Population of E = 48.3 lakh

Slum population = 24% x 48.3 lakh = 11.6 lakh
Total Slum population of D and E = 16.85 + 11.6
lakh = 28.45 lakh

Population of A = 87.6 lakhs

Slum population = 40% x 87.6 = 35.04 lakh
Population of B = 78.4 lakhs

Slum population = 32% x 78.4 = 25.08 lakh
Population of C = 72.4 lakhs

Slum population = 25% x 72.4 = 18.1 lakh
Population of D = 64.8 lakh

Slum population = 26% x 64.8 lakh = 16.85 lakh
Population of E = 48.3 lakh

Slum population = 24% x 48.3 lakh = 11.6 lakh
Population of F = 28.2 lakh

Slum population = 20% x 28.2 lakh = 5.64 lakh
Population of G = 22.2 lakhs

Slum population = 15% x 22.2 lakh = 3.33 lakh
Thus, Slum population of A is the highest.
Total population of city A = 87.6 lakhs

Slum percentage = 40%

Slum population = 40/100 x 87.6

= 35.04 = 35 lakh

In year 2011,

Population of G = 22.2 lakhs

Slum population = 15% x 22.2 lakh = 3.33 lakh
Population of F = 28.2 lakh

Slum population = 20% x 28.2 lakh = 5.64 lakh
Difference = 2.31 lakh

We have,

Ans.48(1)

Ans.49(3)

Ans.50(3)

Ans.51(2)

Ans.52(2)

Ans.53(4)

Ans.54(4)

Ans.55(3)

Ans.56(2)

Ans.57(2)

Ans.58(5)

Ans.59(1)

Ans.60(3)
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Population of B = 78.4 lakhs

Slum population = 32% x 78.4

= 25.08 lakh = 25.1 lakh
32.123x41.98%23.9=7?

?=32%x42x24

?=32256

(9/3)+ (5/27) + (3/243) + (7/9)="
?=(243+15+1+63)/81

?=322/81

?=4
353.02x1.93-242.34+(565/5)+130.923="
706-242+113+131="

?=708

?=(16.6%o0f 1298)-(10.8%o0f 898)

? =17/100 x1300 — 11/100 %900

?=221-99

?=122

?=34.867-15.975-8.1491-1.543

?=35-16-8-2

?=35-26

?=9

Probability that no one is selected

= (3/5)x(1/6)x(3/7)

=3/70

Hence required probability=1-(3/70)

=67/70

Let Prabhu, Sasi and Gokul’s salary be 5x, 6x
and 7x respectively.

Then saving of Prabhu=5xx(75/100) =3.75x
Let saving of Prabhu, Sasi and Gokul be 3y, 3y
and 2y respectively.

But we have, 3y=3.75x

y=1.25x

Hence required percentage=[(7x-2y)7x]x100
= [(7x-2(1.25x))7x]x100 = 64.28%

Total number of pens

= 80%(15% of 80) + 5x(20% of 80)

= 80x12+5x16

=1040

Speed of downstream = speed in still water +
speed of water

= 8+4=12km/hr

(4x+12)/(5x+12) = 7/8

32x+96=35x+84

3x=12

X=4

Difference in their ages= (5x-4x) = x = 4 years
Quantity I:

16P-P=(Px6xR)/100

15P=6PR/100

R=250
Quantity 11
S1=(1250x10x%2)/100
SI1=250
Quantity | = Quantity 11
Quantity I:
Xx%(110/100)%(125/100) = 550
X=Rs.400
Quantity 11
Xx%(118/100) — Xx(88/100) = 90
30X/100=90
X=300
Quantity 1l < Quantity |
Quantity |
20\ o 6
N ///
8
SN
7 N\
8-6=2 20-8=12

Quantity of Rs.20/kg variety is=12*1/6=2kg.
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Ans.61(3)

Ans.62(1)

Ans.63(1)

Ans.64(5)

Ans.65(3)

Ans.(66-70):

Ans.66(4)
Ans.67(3)
Ans.68(5)
Ans.69(3)
Ans.70(5)
Ans.71(2)

App :- http://bitly/TesMusPrime

Quantity 11

Initially, Milk=90x(88/100)=79.2
Water=90x%(12/100)=10.8
(79.2/(10.8+x))=72/28
79.2x28=72(10.8+x)

X=20L

Quantity 11> Quantity |

Quantity I:

14x6=42xX

X=2

Quantity 11

70x30=50%X

X=42

Quantity 1l > Quantity |

Quantity I:

X(x+2)=7743

X2+2x-7743=0

X2+89x-87x-7743=0
X(x+89)-87(x+89)=0
(x-87)(x+89)=0

X=87, -89

i.e) x=87

Greater odd number=x+2=89.
Quantity 11

Let’s take third number is 100
Then the first number is 75 and the second
number is 73.
Percentage=(75-73)/75%100

= 2/75x100

=8/3

Quantity | > Quantity Il
=((13000%6)+(20000x%6)):
((13000%6)+(5000%6)):((13000%6)+(10000%6))
= (78000+120000):(78000+30000):
(78000+60000)
=198000:108000:138000
=33:18:23

Total profit is=148000

A’s share= (33x148000)/74=66000
B’s share= (18x148000)/74=36000
C’s share= (23x148000)/74=46000
Total outcomes=8

Then favorable outcome={TTT, HHH}
=2

Hence required probability =2/8 = 1/4
Let CP=100

Then MP=150

Now SP=(90/100)x150

=135

Thus profit percentage=35%
Hence required amount= 100x 40 x 35/100
= Rs.1400

Reasoning Aptitude

Penguin/
Crane owl Hen  Kingfisher  Parrot
Peter/Alex  John Vacant  Adam Philip Peter/Alex

oo
AN R N S S

Smith Mathew Max Paul Vacant Davis
Peacock Eagle Penguin/  Sparrow Macaw
Kingfisher

800 Norway 400 Russia 50 Israel 90 Sudan
1200

=800 + 400 - 50 x 90 + 1200

=2-4500 + 1200

Ans.72(5)

Ans.73(4)
Ans.74(5)

Ans.75(3)
Ans.(76-79):

Ans.76(2)

Ans.77(3)

Ans.78(5)

Ans.79(4)

Ans.(80-84):
Ans.80(2)
Ans.81(2)
Ans.82(3)
Ans.83(4)
Ans.84(3)
Ans.85(1)

Ans.86(2)

Ans.87(4)

Ans.(88-90):

Ans.88(1)
Ans.89(4)
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=1202 - 4500
=-3298

KEMYE
97| 615115 3/13112]12{|1]|0
AFGHANISTAN]G ’
=ZUTSZMRHGZ M- YPPOsite

AHMEDABAD
AA ABDDEHM

©
-

o
I

Real, Earl
@ =
# >
5 =
Ya <
@ =

A=B<D<E<Gz2H;F<A;G=J

. F<E-True (FRA=B<D<E=<G=z=H)
Il. J>B - True (BsD<E=G=J)
P>Q<R<S=T>W2I; K=S<sL
I.Q>W -False Q<R<S=T>W)

Il. R<L - True (R<S <L)
A=B<D<E=<Gz2H;F<A;G=J

I. A>B - False (A =B)
I.D=J-False(D<E<G=1J)

XsY=Z<U; Z<V

.LV>X-False (X<Y=Z<V)

II. V=X-False (X=Y=2Z<5V)

But both conclusions | & 1l make a
complementary pair as V2X. So, either

conclusion | or Il is true.
V< R<P <S(54)<Q<T(88) <M

M(+)

L

SEO=V)+—K-=Tw)

|

G(+)

P)=R(+)
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Ans.90(3)

AN 9165 DNA DAILY NEWS
| TRANALYSIS

Ans.92(1)
COMPLAINTS
ACILMNOPST
Ans.(93-97):
K W T Q F 5
A A A A
Ans.93(5)
Ans.94(5)
Ans.95(2)
Ans 96(2) # 10 Important News Brand Promotion __Mobile Screen Friendly

Ans.97(4)

Ans.98(4)  Anil is ranked 215t from the bottom. 6 ’ J— m
The number of students between Anil and ﬁ Prlce.?8,499/ for 6 Month

Mukul= 35-21-1=13.

Ans (89-100)
CET mT%TQIAL KIT

b) 7 km s
6 km
Pe—D
2 km Mo/emﬁ
roach o
Ans.99(5) REASO e

Ans.100(2)

DAILY 5 e

‘ CEREER @PLANNER
S isnasiciabyg

& 4 Books & 1,400+ Pages (7} 7,250+ Questions

LVLTEVATLY Price: #11,999/- Per Book

CA/GA cooxier

éﬁrrent Affairs / [Zb S General Awareness Mock Tests
General Awareness !

50 Questions Per Set
=] 53 Different Slides Brand Promotion Highly Engaging

Price: 2 5,999/~ for 6 Month (10 Slides) Latest Pattern Based

1" Brand Promotion

FEATURING:
* Mos

tast Randpicked CA
ith 500 Qeestions

= MCQ' with detailed sabutions

* Strictly designed as per latest exam

Price: 7,999/~ for 6 Month
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...keeps Yyou ahead

TEST FORM NUMBER AT dF  : 100
INSTRUCTIONS TO CANDIDATE | &d s : 100

fuiRas@  : 60 faFe

T9T DI B PN A Ul AHAfIRad e & =4 | U |

(1) 39 gRaa®r # 100 we &, S 5 g O wr # i 2

- (1) @ English Language / (or) Hindi Language (30 y=)
- (1) @ Quantitative Aptitude (35 9=)
wrT- (111) : Reasoning Aptitude (35 9% )

(2) o g Sifard € TAT WeD IRIER 3P T |

(3) Ul BT FA HIAT YRR Bl ¥ USel AMUDI 39 JRABT B 9 b @12y 3R IJg GARAd wem =12y & s+ ot
U SURIT & 3R BIS U B AT 93l Gl T8l & | 3R AP 39 JRAP § B a9 fHerar 8, a1 sl gRd 9
g B |

(4) YAP T F THRIHAS P BT § i TAP Terd SR B 17 0.25 3 @ie faar e |

(5) oMudT FRIeTd gRT STR GRADT AT | & ST | MIBT T DI § HIAT URS G F Ugel AT M, I 7eR,
T M /ATl SR /UNIET BT AW SIR—YRADT IR HEHFIYdDh R HRAT BT | 3MUh] SOR—YRADI H FeiRd wm=
TR AU BRIER AT BRAT BT | 7 <2 &1 G TRe I Urer fbar Ser =ney, fe! 9 &R R v ITR—gRI ST
BT JATH el [HAT ST R DT TR 3 a1 MY |

(6) TR daa U oM AP /< A YT gRT SR— IRADT TRIAG U G b AT Mol B g9 RE A <D
FRe feamar S ARy |

(7) OMR SR yRAST &I T FAF gRT Sfiem SIRAT | Ife {6 Refd § Suater ST, afrded o3 H & T SFeR)
A AT YR Y, AT GD BT TG R B QAT SR |

(8) fierd ot rgAfd e @ a8 & B URIe el BIS AHT 2 |

(9) SRh # A fHE A [ &1 rued 37§ e SHIAR &1 Sugw HRIATE! /A & oIy STRER |9 S
HEHdT B |

(10) I el &1 e Sa-l Teal R A ¥ Ul HT SR | HB FaTd Hfod 8 AHd 2 3R TR MMM &
Fahd 2| fesl ff ged R sy 9Hy e g |

(11) #ersa ®F 3R IRRO HaR SUGRU, Wl HeT/FR H [ a9 ufEfa g1 P o ded ue Aegd
BT IT B IR FaR SIBRY BT d€ HRd ¥l 37 U H8] X FhdT | 99 BT Socigd B UX deh & faog
Sfad drRIAET & SR 3R STaT aded ) AR fhar o1 |awar 21

(12) STR—9F W DS IH G 8l fbar SET A1y |
(13) @IS 1 IRIGAR Y&l QT 8 A U URIET Hel el BIS AHdl & |

g d& INUH Ig N0 YRASBT Wie BT - Hal WY a9 ddb J @il
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English Language

Direction (1-10): In a passage given below there are 10

5.

App :- htt

blanks, each followed by a word given in bold. Even
blank has four alternative words given in options (a),
(b), (c) and (d). You have to choose which word will
best suit to the respective blank. Choose (5) as your
answer if the word given in the bold after the blank is
your answer i.e  "No change requires".

_(1)_[Joint]_relations between India and Maldives
are on the brink once again as the deadline for India
to _(2)_[extract]_its two helicopters has passed and
the issue of visas for thousands of Indian job-seekers
remains unresolved.

The visas of more than 26 Indian Navy personnel
operating the Advanced Light Helicopter (ALH) were
valid till June 30. However, Maldives has refused to
_(3)_[lengthen]_their visas and has already asked
India to take back the two ALHs. “The Navy personnel
are in Maldives awaiting further instructions,” a
defence official said.

The two helicopters were gifted by India in 2013 and
one was _(4)_[activated]_by the Indian Coast Guard
and the other by the Indian Navy. The validity for the
Coast Guard helicopter had expired earlier this year
but the helicopter still remains there. End of May, the
visas of Navy personnel were extended by one month
after _(5)_[participation]_of External Affairs Minister
Sushma Swaraj.

Maldives Ambassador to India Ahmed Mohamed said
there had been no news on whether the issue over
the helicopters had been resolved, adding that the
matter was being handled “directly in Male.”

“What | know is that the helicopters were supposed to
be taken back by 30th [to India].” Maldives officials
also declined to comment and said the issue
_(6)_[are]_being dealt with by the Ministry of
Defence.

Hundreds of Indians say their jobs may be on the
_(7)_[row]_as tensions between the two countries
continue.

It is reported on June 14 about an estimated 2,000
Indian applicants who have been offered jobs in the
Maldives, but have not received work permits since
February. According to dozens of such applicants,
most employers have informed them that “Indian work
visas” are not being _(8)_[furnished]_at present, and
some have sent letters with deadlines of July 1, after
which they would fill their positions. Maldives sources
_(9)_[announced]_that they had received several
complaints about difficulties faced by Indians in
obtaining Maldivian work permits and the matter was
bein _(10)_[quested]_officially.

(1) shared (2) common
(3) bilateral (4) collective
(5) No change required

(1) validity (2) withdra
(3) issue (4) permits
(5) No change required

(1) had (2) might

(3) have (4) was

(5) No change required

(1) cord (2) string

(3) line (4) yarn

(5) No change required

(1) circulated (2) distributed
(3) supplied (4) issued

bit.ly/TesMusPrime 2|Page

(5) No change required

6. (1) expand (2) widen
(3) enlarge (4) extend
(5) No change required

7. (1) operated (2) managed
(3) driven (4) controlled
(5) No change required

8. (1) interruption (2) incursion
(3) intervention (4) negotiation

(5) No change required

9. (1) admitted (2) unveiled
(3) stated (4) declared
(5) No change required

10. (1) investigated (2) explored
(3) searched (4) pursued

(5) No change required

Direction (11-20): Read the following passage carefully and
answer the questions given below it.

From the beginning of the 19th century, the British
East India Company's gradual expansion and
consolidation of power brought a major change in
taxation and agricultural policies, which tended to
promote commercialization of agriculture with a focus
on trade, resulting in decreased production of food
crops, mass impoverishment and destitution of
farmers, and in the short term, led to numerous
famines. The economic policies of the British Raj
caused a severe decline in the handicrafts and
handloom sectors, due to reduced demand and
dipping employment. After the removal of
international restrictions by the Charter of 1813,
Indian trade expanded substantially with steady
growth. The result was a significant transfer of capital
from India to England, which, due to the colonial
policies of the British, led to a massive drain of
revenue rather than any systematic effort at
modernization of the domestic economy. Under
British rule, India's share of the world economy
declined from 24.4% in 1700 down to 4.2% in 1950.
India's GDP (PPP) per capita was stagnant during the
Mughal Empire and began to decline prior to the
onset of British rule. India's share of global industrial
output declined from 25% in 1750 down to 2% in
1900. At the same time, the United Kingdom's share
of the world economy rose from 2.9% in 1700 up to
9% in 1870. The British East India Company,
following their conquest of Bengal in 1757, had forced
open the large Indian market to British goods, which
could be sold in India without tariffs or duties,
compared to local Indian producers who were heavily
taxed, while in Britain protectionist policies such as
bans and high tariffs were implemented to restrict
Indian textiles from being sold there, whereas raw
cotton was imported from India without tariffs to
British factories which manufactured textiles from
Indian cotton and sold them back to the Indian
market. British economic policies gave them a
monopoly over India's large market and cotton
resources. India served as both a significant supplier
of raw goods to British manufacturers and a large
captive market for British manufactured goods.
British territorial expansion in India throughout the
19th century created an institutional environment that,
on paper, guaranteed property rights among the
colonizers, encouraged free trade, and created a
single currency with fixed exchange rates,
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standardized weights and measures and capital
markets within the company-held territories. It also
established a system of railways and telegraphs, a
civil service that aimed to be free from political
interference, a common-law and an adversarial legal
system. This coincided with major changes in the
world economy - industrialization, and significant
growth in production and trade. However, at the end
of colonial rule, India inherited an economy that was
one of the poorest in the developing world, with
industrial development stalled, agriculture unable to
feed a rapidly growing population, a largely illiterate
and unskilled labour force, and extremely inadequate
infrastructure. The 1872 census revealed that 91.3%
of the population of the region constituting present-
day India resided in villages. This was a decline from
the earlier Mughal era, when 85% of the population
resided in villages and 15% in urban centers under
Akbar's reign in 1600. Urbanization generally
remained sluggish in British India until the 1920s,
due to the lack of industrialization and absence of
adequate transportation. Subsequently, the policy of
discriminating protection (where certain important
industries were given financial protection by the
state), coupled with the Second World War, saw the
development and dispersal of industries, encouraging
rural-urban migration, and in particular the large port
cities of Bombay, Calcutta and Madras grew rapidly.
Despite this, only one-sixth of India's population lived
in cities by 1951. The impact of British rule on India's
economy is a controversial topic. Leaders of the
Indian independence movement and economic
historians have blamed colonial rule for the dismal
state of India's economy in its aftermath and argued
that financial strength required for industrial
development in Britain was derived from the wealth
taken from India. At the same time, right-wing
historians have countered that India's low economic
performance was due to various sectors being in a
state of growth and decline due to changes brought in
by colonialism and a world that was moving towards
industrialization and economic integration

Several economic historians have argued that real
wage decline occurred in the early 19th century, or
possibly beginning in the very late 18th century,
largely as a result of British imperialism. Economic
historian ~ Prasannan  Parthasarathi  presented
earnings data which showed real wages and living
standards in 18th century Bengal and Mysore being
higher than in Britain, which in turn had the highest
living standards in Europe. Mysore's average per-
capita income was five times higher than subsistence
level, i.e. five times higher than $400 (1990
international dollars), or $2,000 per capita. In
comparison, the highest national per-capita incomes
in 1820 were $1,838 for the Netherlands and $1,706
for Britain.(117) It has also been argued that India
went through a period of deindustrialization in the
latter half of the 18th century as an indirect outcome
of the collapse of the Mughal Empire.

Indian economic policy after independence was
influenced by the colonial experience, which was
seen as exploitative by Indian leaders exposed to
British social democracy and the planned economy of
the Soviet Union. Domestic policy tended towards
protectionism, with a strong emphasis on import
substitution industrialization, economic
interventionism, a large government-run public sector,
business regulation, and central planning, while trade
and foreign investment policies were relatively liberal
Five-Year Plans of India resembled central planning
in the Soviet Union. Steel, mining, machine tools,

bit.ly/TesMusPrime

3|Page

11.

12.

13.

14.

15.

16.

17.

18.

19.

telecommunications, insurance, and power plants,
among other industries, were effectively nationalized
in the mid-1950s.

According to the passage what did the economic
policies of the British Raj cause?

(1) Commercialization of agriculture

(2) Decreased production

(3) A severe decline in the handicrafts and handloom
sectors

(4) Gradual expansion of the British Raj

(5) Transfer of capital

According to the passage what was India’s share of
the world economy in 19507

(1) 24.4% (2) 2.9%
g gzjo Q) 4.2%

According to the passage what was the cause for the
slow moving of urbanization until 1920s?

(A) industrialization and adequate transportation

(2) lack of industrialization and absence of adequate
transportation.

(3) rural population moved to the cities

(4) there was an urgent need for transportation

(5) All the above

Choose the word which as same meaning as the
word “impoverishment” printed in bold as used in
the passage.

(1) Rich

(3) Misery

(5) None of these

(2) Wealthy
(4) Improved

Choose the word which is most nearly the same in
meaning as the word “sluggish” printed in bold as
used in the passage.
(1) Rapid

(3) Speedy

(5) None of these

(2) Developed
(4) Indolent

Choose the word which is most opposite in meaning
of the word “captive” printed in bold as used in the
passage.

(1) Free

(3) Detained

(5) All the above

(2) Confined
(4) None of these

According to the passage what were the sectors
nationalized in mid-1950s?

(A) Business regulation and central planning

(B) Steel, mining, machine tools, telecommunications,
insurance, and power plants

(3) Agriculture

(4) Handicrafts and handloom sectors

(5) All the above

Which of the following statements is true in the
context of the passage?

(1) At the end of colonial rule, India inherited an
economy that was one of the richest in the developing
world

(2) Raw cotton was exported to India without tariffs

(3) The 1872 census revealed that 91.3% of the
population resided in cities.

(4) Urbanization generally remained sluggish in
British India until the 1920s

(5) All are true

Find the incorrect statement on the basis of the given
passage.
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20.

(1) India served as a large captive market for British
manufactured goods.

(2) India served as a significant supplier of raw goods
to British manufacturers

(3) The British East India Company, had forced open
the large Indian market to British goods.

(4) It also established a system of a civil service that
aimed not to be free from political interference.

(5) None of the above

Choose the word which is opposite in meaning of the
word “coincided” printed in bold as used in the

passage.
(1) Match (2) Diverge
(3) Agree (4) Go along with

(5) None of these

Directions (21- 25): Rearrange the following sentences (a),

(b), (c), (d), (e), (f), and (g) in the proper sequence to
form a meaningful paragraph, then answer the
questions given below them.

(&) How can we address the aspirations of a billion
people with such varying set of capabilities and
abilities?

(b) This is not to say that the child in the remote area
must not be cared for.

(c) However, we must be practical about how we do it
(d) The standard refrain from successive regimes is
to deliver a one-size-fits-all solution.

(e) India has 400 million people below the poverty line
and another 600 million in the lower middle class and
aspirant poor.

(f) Thus, we try to teach a child from a remote area
complex biology, chemistry, physics,
and mathematics and try to equate that child with
one in an urban set up.

(g) We must innovate ways to find, nurture, and
develop the Abdul Kalams of the future from such
remote areas.

(h) Such a large number spread across different
states each with a different language, tradition, and
practice does seem daunting.

21. Which of the following would be the FIFTH statement
after rearrangement?
@Dc 2)e
39 (4)d
(5)f
22. Which of the following would be the SECOND
statement after rearrangement?
1) a 2)h
)b @4 e
®)g
23. Which of the following would be the EIGHTH
statement after rearrangement?
1)d 2)b
®3)h 4)c
5)f
24. Which of the following would be the FOURTH
statement after rearrangement?
(1)e (2) a
(3b (4)d
®)c
25. Which of the following would be the FIRST statement
after rearrangement?
f (2)e
(3h (OX°]
®G)b
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Directions (26-30): In each of the question below, there is a

26

27.

28.

29.

30.

word given in bold which is followed by the five
options. In each of the option, a pair of words is given
which is either the pair of synonyms or antonyms or
synonym & antonym of the word given in bold-that
pair of words is as answer.

Augur

(1) Evaluate- estimate (2) Envision- visualize
(3) Emulsion - suspension (4) Afflict - worry

(5) Herald- portend

Unequivocal

(1) Clear- untidy

(3) Obvious- obscure
(5) Viable- stable

(2) Promotion- detention
(4) Coincides- commercial

Benign

(1) Submissive-support
(3) Cruel- begin

(5) Handsome- lovable

(2) Benevolent - malignant
(4) Prepare- start

Mandate

(1) Voice- invoice (2) Assume - guess
(3) Place- position (4) Order - directive
(5) Malpractice — misconduct

Tweak

(1) Pull — refrain

(3) Slow- small

(5) Mean- malicious

HINDI

(2) Speed-quick
(4) Engine- automatic

fder (1-5) Frfead Terier @1 ugdR S6 W ARG gl @

IR T |

I 980 9 & 999 e & fou w@ear T8 8
TR ¥ 98 Afdd Aol U BT & ST 98T Bl

HE SUANT HRAT
T BRI fear Srar g1 @o faened

2| fenfdai @
T &1 SR Q-1 BR oA © | BB IRM I IR T
fea v 2| 7o

3T I IBR B a1t g9 H QAT E | [ IR W
&I T8l | sHGT uRemy B © b 9 e ¥ Nvs
SRS

ol § IO qE BT U | R SO B IR R
arel Sl B ¥ | oI WWI P WgUANT & HEd
|l IR 7T @

|EI SYANT BRI ABE TR HEH L |

DI folt & fog T8 waar?

(1) gy (2) W=

(3) geTHE (4) 5=

(5) T%

THI BT IHR A BT g1 Tl g 27

(1) = & # SRIBerT (2) IR fiyerdr 8

(3) Awerar Af¥ed & (4) 9= & o awer
(6) ¥ & @ &

I W B T G arel fenedt @ i 27

(1) srIHerar (2) AHerar
(3) =m (4) srgema
(5) 3T ¥ BIg TE

THY P JeddT= R A S 27
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(1) w9g & Shad # SR & HROT
(2) AHAT BT AR B & HROT

(3) Sugad <At

(4) ufas & forw

(5) 37 N BIS 7Tl

5. Terer 1 waifte Sugad five gig—
(1) |9 BT AGUANT (2) ¥ g &1 A5
(3) THY AHT BT AR (4) T AR FHAT

(5) 37 W P13 7Tl

ke (6-10) - fav 7y ywAi & U@ Jefoud SR Ry v
g1 ST ¥ 98 SR BT gAg HIfrg—

6. "FSTOT U R BRIt & H faRvor g
(1) FesoT (2) drIwar
(3) B (4) Sodaa w4
(5) 3 X Bl 7Tl
7. fe=dl W 7 fafy 2—
(1) urepd (2) TTAF
(3) ureh (4) d¥d
(5) 37 ¥ BIg LI
8. Fraifya wreg #§ feforRed § sF—w1 uer &7
(1) = (2) faa
Q) =% (4) <@
(5) 37 ¥ BIg Tl
9. 7 % & BF—1 9v1 AT oiR R 77
(1) = (2) &
) T (4) v
(5) =
10. 1 % 9w T P 87
(1) sEre= (2) geara
(3) gerdTetm (4) <t
(5) e

fder (11-13) < v@® ueg # Ry U fAweni § 9 doH
IR BT FIT DI

11. (1) o= (2) et
(3) 3= (4)
(5) e

12. (1) a1y (2) fei
(3) TSt (4) @1
(5) site

13. (1) o (2) st
() ?W (4) &=
(5) T A P T

fder (14-16) f=foRad U awa & fav swa - g g
fpedl # 3 S UeR ol ffed S

14. A T8 Y AR, I G HB 37 |

(1) W a1 (2) TgwT qIR
(3) fas1 @t (4) &Rl g
(5) 3T ¥ BIg T
App :- htt bit.ly/TesMusPrime 5|Page
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15. JaeR H I8 fdeqgel 991 €1 8 S S9S fUdrell |

(1) W ar (2) \gad are
(3) 81 (4) FEIROT gy
(5) ¥ ¥ B &I

16. AT BRI, TSR a7 |
(1) s=ordrEs (2) srr=iTarae
(3) fafdraras (4) ADaaras
(5) yeTaras

fder (17-19) = g W= Y MU & | 9P @I aa1 & forg
IR fwey Ry U 2| 379 9 s ey # weg a1
YE il A TS T MMUD SH YE N Bl I

PHRAT B

17. (1) mHa® (2) MRS
(3) ardRifAe (4) STHTHD
(5) MHIRHAS

18. (1) wfred (2) wiReR
(3) wifafRef (4) wrfRef
(5) wfiRef

19. (1) sraefrer (2) srarefier
(3) ®raeier (4) e
(5) foparefier

e (20-22) fr=feRad vl @ aR—aR Wf-faewe Ay T
2| 98 fAweq og9 ax?

20. LR
(1) weH+Sg (2) wEH
(3) HAEH3 (4) 7ET+aRr
(5) HET+afd

21. TN
(1) TE+HmTHT (2) T+
(3) Tg+IMTHA (4) T+
(5) F+IFTHA

22. feATerr # f5e G &1 vRRT garr 77

(1) o1 ®=R 9 (2) 31 TR e
(3) e wR WY (4) faet wfey
(5) =S wfY

e (23-25)-fr=feaRad 1@ wes & fog S9a i fay 1w
fIepedl 3 A SUYad TR BT AT BV

23. FHAN
(1) Tgey (2) a7
() g8 (4) FRA
(5) riMmE

24, agH
(1) Tgey (2) sgife
(3) FHuRY (4) T
(5) g<

25. dIRTET
(1) Tz (2) TYg=y
(3) Srerdrrg (4) fa1
(5) g<
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fader (26-28) f=faRaa oGl & oM ulg—dra wres Ry Y

26.

27.

28.

g1 g < Sfud yafgar gaer fifdd wv—

T4

(1) fRrR (2) 3EPR
(3) warfas= (4) Td

(5) g

AR BT A § Blell dIed, SHBT AT 37 2
(1) fawy (2) == 91
(3) &= (4) ai

(5) e

‘fer @1 qatg ®

(1) s (2) 9=

(3) T (4) Fspard
(5) 3T ¥ BIg 7Ll

e (29-30) @ @B ww A W UG @ um Jdfoud

29.

30.

e f& T 2, SuYA A BT g DI |

AR BT o B

(1) = (2) g=x gari
(3) == I (4) 9 TeRared!
(5) g

TR BT GAFRIT e T 87

(1) = (2) faery <o
(3) v (4) gHTOT

(5) IMTHA

Quantitative Aptitude

= (31-35): Ru U Uil A Uy fug & ®IF WR 1 7F 81 TR w?

31.

32.

33.

34.

35.

8,16, 34,71, 146, ?

(1) 271 (2) 261
@) STH I PR Tl (4) 251
(5) 221

30, 30, 45, 90, 225, ?

(1) 570 (2) 630
(3) 510 (4) 675
(5) 480

232 231 223 19 132 7
m7 (@5

3)9 4) 11
(5) ST A PIS g1

22 68 160 344 ? 1448
(1714 (2) 7112
(3) 717 (4) 709
(5) STH I DI !

586 442 341 278 242 ?
(1) 224 (2) 219
(3) 225 (4) 226
(5) T8 A PIS 751

fdar (36-42): e U Ut & Uy g  RIM W 1 A4 8141 @1ieu?

36. ? Pl 3/8 BI5/6 DT12/7 =790
(1) 8848 (2) 8448
(3) 8748 . (4) 8248
(5) FTH I HE
App :- htt bit.ly/TesMusPrime 6|Page

37.

38.

39.

40.

41.

42.

(550 T 140%) + (400 DT 12.5%)+(306 DT 33.33%)=7

(1) 780 (2) 922
(3) 824 (4) 780
(5) FTH Y P Tl
V5929+V/3364+V4761=?

(1) 204 (2) 224
(3) 254 (4) 234
(5) 379 A PIS el

V676 H172/10 = V64 DT 130/?

(1) 30 (2) 20

(3) 18 (4) 40

(5) 399 A PIS TET

(762+3)% (80 BT 120%)+2116=7

(1) 24500 (2) 26500
(3) 23800 (4) 27850
(5) FTH Y P eI
4898-6234+5325-1294=?

(1) 2595 (2) 2495
(3) 2965 (4) 2695
(5) 379 A P TRl

(280 BT 20%)+(V729x9)+123 = ?

(1) 332 (2) 542
(3) 324 (4) 422
(5) 579 I FHI e

= (43-47) : A IRl &) oo T UgHR 3P MUR R Y Ut B

43.

44,

45.

46.

47.

JIWR
2011 H T SFEREAT & Uia=Id & =0 & A0 SHeRem

Flad A B C D E F G
EEE Sl
[a'm‘rﬁ'} 876 | T84 T24 |B48 | 4583 | 282 | 222
amser

. 40% | 32% 25% | 26% | 24% | 2086 | 15%
SeAEEAr
(wferer #)

9 2011 H XER D Ud R E $I TH Y A ATHI0T S
EIRli]

(1) 26 A (2) 27.88 @
(3) 28.45 TG (4) 29.2 ARG

(5) 379 A PIS TET

¥ 2011 H Taifere grior SeRe fog T # e
U)e (2)B

3)D (4) A

(5) FTH Y P TRl

TN 2011 H }ER A B H ATHIOT SEREAT (@1 fabat ot

(1) 31 A (2) 35 dr@
(3) 32 9 . (4) 34 TG
(5) STH I DL ol

¥ 2011 H MR G T TSR F B AT FESAT & i fobam
3R Ur?

(1) 1.40 @ (2) 1.70 dr@

(3) 1.50 dr@ (4) 2.31 1@

(5) S99 A PIS 751

¥ 2011 H WG B BT UTHIT SHEBAT (@1 TH) fhat ot
(1) 24.5 ™ (2) 25.5 ™

(3) 25.1 @ (4) 27.5 @

(5) 99 A PIS 75T

Web :- https://tesmus.com


http://bit.ly/TesMusPrime
https://tesmus.com/

LIC Assistant Pre 2023 TEST ID - LAS - 87495759

ﬁé‘mms;‘s}z%)%%ﬁwmﬁﬁwﬁ%$@mwmﬁﬂmwm
?

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

32.123x41.98x23.9=?

(1) 32256 (2) 39623
(3) 32983 (4) 38526
(5) 31256

(9/3)+ (5/27) + (3/243) + (7/9)=?

M2 (25
(3)4 (4) 1
(5)7

353.02x1.93-242.34+(565/5)+130.923=?

(1) 729 (2) 753
(3) 708 (4) 792
(5) 630

(1296 T 16.6%)-(898 T 10.8%)="

(1) 149 (2) 122
(3) 115 (4) 106
(5) 132

34.867-15.975-8.1491-1.543=7

(112 9
(3)15 (4) 18
(5) 21

A H 3 BE & AT BT YUIGHT HA: 2/5, 5/6 3R 4/7 B
STHIABA YT TS S T O S YU R,

(1) 17/70 (2) 24/55
(3) 23/55 (4) 67/70
(5) 11/24

Ty, it 3R Mpd P I BT UM 5:6:7 8, s T, TR
3R MPpd BT s9d BT UM 3:3:2 71 S TY BT T 39D
gaqmzs%%,a‘rrhwmmmam?ﬂmuﬁm
?

(1) 23.28%
(3) 16.28%
(5) 84.28%

80 oW1 3R 5 Aigesli & U THg H, AP qoul &I ffrer
S O BT TS, GIW B S W BT 15% § AR TAH
Aigenan 1 e arel U 1§, TH B Hel AT BT 20%
?1 I8 foram o O

(2) 82.28%
(4) 64.28%

(1) 1453 (2) 1234
3) 1049 : (4) 1012
(5) STH A B Tl

i o1 § A9 Bt T 8 fBHl/Eer 81 U fdd oo A1a &Y
nugr%fgm4mma@f@m%| YRT & TTA(SAIHATE)
FR?

(1) 8 fpHi/der (2) 12 fpfi/ger
(3) 16%/9’21 . (4) 2 T der
(5) ST A P1S 8T

[ 3R YT B MY 4:5 F AU & 81 12 T qIg TP 31
T 3UTA 7:8 BT ST 3G T SR FT 52

(1) 598 (2) 48
(3) 6% (4) 8T8
(5) ST I BIS 751
fdwr (58-62): TS U T T HYUT & dIc HE | 3R A 11 fear man g1
FaYFYdd B B U¢ R deIuR IR S|
(@) T > FEATII (b) HEATI > HEATII
(c) FEATII > AT | (d) HAT Il > &

(e) HHAT | = HEAT || A1 Fayy RITOT T foba S Febel &

58. T 1 A B8 AR 6 a H 16 THT 1 ST 81 A &I B &
A B2
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59.

60.

61.

62.

63.

64.

65.

HET 11: 10% Ui g Bl @R W 2 a8 & 3id # 1250 UL B} MRy

TR YIYRUT & T 87

(Ma )b
3)c 4)d
(5) e

HET 1: A S B DI T S 10% <TH R ST 8, B 38 C Bl 25%
1Y R II1 31 (S C 3T T 550 TUA 31T Bl 3, O Hed
12 W A 3 5 B @der

HET 11: TS 12% B 81 W Alded o 9adT g1 afe 98 38
18% & ATH TR o1 8T, o 39 90 TUT UIE graT| Hiagd &f

Y Yo 1 87

(Ma @b
B)c @) d
5)e

AT | 20 ¥93/foell arell Irad &t fba=it 9, 6 Bud/fdhar
qrelt arad Bt 12 fordl &y firern S =feT arfes aRormet
foreror &t B 8 SUd/fHa 81

HTAT 11: T 3R g F 90 Titex fHreor & g &t AT 88% €1 39
ﬁmﬁ?mwmwmmﬁ?sﬂﬁwﬁ@ﬁ
AT 72% B1?

Ma @b
(3)c 4)d
(5)e

AT I: 14 Y39 U B ' 6 o1 H {1 % T 31 I 7
DI 42 GY foba faT H qR1 R Fhdl 7

HTAT 11: 70 HRAN T &8 B 30 371 H R 62 qahelt 81 IR
$MH P 50 fodl H @ A & g fpai Afganst ot
ST T gHiT?

Ma @b
(3)c 4)d
(5)e

HTAT 1: S AR fawe TReamsit & UATd 7743 §1 <) SRemait
H 9t Tem B 32
AT 11: 3 TG, IR T § HHR: 25% 3R 27% A HH B

TR T, gl e W fara ufawra W 82
Ma (@b

3)c 4d

(5) e

A, B 3R C A% 13000 IUT BT A% HP Th TR RH
Pd 1 6 HEH 91 B 3 8000 T 9109 & e, ¢ = 3000 T
a9 & ferar efiRk A 3 7000 S framn| we oy & ofd § o
AT 148000 FUT AT BIdT & | U T o T J1d B2
(1) 66000, 36000, 46000 (2) 34000, 17000, 23000
(3) 18000, 23000, 33000 (4) 17000, 34000, 23000

(5) 79 A PIS TET

gfe i Ried T ary IoTd QT 9 & oY o Guie & b
Tt Ryaent 1 U &) AT (@) B

(1) 2/5 (2) 1/3

(3) 3/4 4) 1/5

(5) 1/4

TH I $I Sifhd O, aNd Hed ¥ 50% e g1 I
GHMER 10% BT Fe ol ¢ 3R 39 I¥g B! AR eI 100
wﬁgah?a%’&rqﬁmaam%,a‘rmmeﬁawu
T B3

(1) Rs 943 (2) Rs 1464
(3) Rs 1400 (4) Rs 862
(5) Rs 1214

Reasoning Aptitude

frd= (66-70): fafeed STHeRt Fraert 4 ug 3R = few mu st 1

IR eI

g N &l iR Ufekdl # aRE diel # 39 R A 90 ¢ o,

T Afdadt & § T g8 Bt 1 e ufda # ur @
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66.

67.

68.

69.

70.

71.

72.

App :- htt

Tifrer €1 tfda 1 7 fbferg, e, waew, TsH
3R I8 O Tt <o ) 3R
Ry, 3fgg, uid ok A
A ¢ IS Ufdd H U

S
t

¥ :

BR W eI 81 fpfera ok &if, S didT T R aTet fad &
aff 3R Y WM W 961 8, & o9 ] i
AT § I8 TRAT UG B
feRT IRY 3R Ie TS R § § TH-gW & I g1 ufaa
1 el die, fhfery & depra usr o 78T g1 Ay 3k 3faw
F g 7 W 71 dfe 1 Bt @l e, ofa Bt SR A
sifor BR W+t 7 doar 21 teH, Tif wie FRar §1 3
W%ﬂﬁww@raﬂmmﬁaﬁﬁﬁaﬁ?g@
Tl

AId &1 UiE A aral e & fauid ke 1 9ad1 872
(1) g (2) diex

@) &g @)

(5) STH I PIs !

YA & Taiy B Fufafad § § o1 91 $3F 99 8; 3 e
U< A dTell A ufdd 1 H dodi g2

(1) ST T3 URig HrdT ¢ 98 Ulex & o18 3R T Sad1 8
(2) ST I3 URiG PRl § 96 T b1 (e ad TSI ol o

(3) ST Y73 THig HaT § 98 did B U I 1A e B
qPTd Sl 3R SoaT g

(4) S U2 UXiE T § 98 Ufad & 3ifdd 3R W S3ar g1
(5) S WIS U¥E F1 ¢ 98 S7T01 UNiE A aTdt fad Bt 3R
| AT g |

I MG & a8 3R GURI B 934l &, S Ufad 2 &t @redt Tie
DI 3R TG HRaT 87
(1) dlex
(3)TsH
(5) T A BIE el

FRafafaa & 3 o 91 e, {1y uie sarg?
(1) IR (2) 3

(3) IR (4) TRan

(5) it

Ufad 1 &1 a1, Tl § Feifid §, I UPR 7y, uid ¥ Wl
81 @ I Yoo &I urad HRd gu UfR 2 @ el de
frafofea & @ fra 3 deafia 72

(1) A (2) 3faw

ORIS] @) Ty,
(5) S99 A PIS 75!

e A 1 o+, S B o '+, T B o - 3R
goRTEe 1 31 %' gl -

800 ATd 400 T 50 FORIZH 90 Y 1200 = ?

(1) 3298 (2) -3298

(3) 3241 (4) -3241

(5) TTH I IS T

Tfe TS 4567291023453 & 3ih! Bl AR Vg! HH | AR
T30 ST © ol gHaiaR & 916 fhan sid! & ®IF gad Sri?
1) & (2) U

@G)a (4) d=
(5) 379 A B 8T

(2) 94
(4) T

bit.ly/TesMusPrime

8|Page

73.

74.

75.

w P P T H AFGHANISTAN
P MZGHRMZSTUZ 3R BAHRAIN &Y MRzISZY forar Sirar &
a3 BIe UIST H CAMEROON & Y forar saem?

(1) MXZNLLIV (2) MLLVZNXI

(3) MLILVNZX (4) MLLIVNZX

(5) FTH I P13 TRl

i Weq AHMEDABAD ¥ T+t 31eRY w1 i3S gufAren o9 &
AU faaT ST § A gIdaw1 & 16 faraa oferl & =M
o SE?

OEIN @3

3) (4) @

(5) FTH Y P Bl

3ERIR, A, L, EH I UAP 3HeR &1 U0 Weg H Had T IR
TRINT &= U 3foh & e arefguf 2rea 9IR) Wb &7

(1) B oI @ @

G a (4)
(5) T T 3fdm

=T (76-79) Fafafaa usi & i i mu sFuR Fafarea srif &

76.

77.

78.

79.

ydie @, #, $,% 3R © BT IUAN BT ST 2

"C@D" means ‘C is not greater than D’

"C#D" means ‘C is neither smaller than nor equal to D’

“C$D" means ‘C is not smaller than D’

“C%D" means 'C is neither greater than nor equal to D’
"COD" means 'C is neither smaller than nor greater than D".
319 Fafiiad uede uy 7, feu T¢ ST o) e A1Hd §U T8
gel Y % A oy e & fsp | ok 11 @ B 91 e
fAfd ¥U 3 93 7 SR 30 I )

FUT:AOB@D%E@GSH,F%HA GO

e LF%E I.)#B

(1) Pad ey | TI B (2) T e | 3R 11 T B
(3) Pad ey 1| TI Okisis-a TRk
(5) T e | T 11 FT R

PYT:P#Q@R%SOT#WSI, KOS@L

. .q#w ILR%L
(1) Paa st | TI B (2) Tt e | 3R 11 T B
(3) Pad =pY 1| TI B @ T ey AT T g

BELIG TEIE:

PYT:ACOB@DBE@GSH F%RA GO

e 1.A#B I.DO©J
(1) Pad f=pt | TI 1 (2) Tt e | 3R 11 T B
(3) Pad =pY 1| TI B Okisis-a TRk

BELIG TEIE:

PY:X@YOZ%U;, Z@V

s 1L v # x .V O X
(1) Pad ey | TI B (2) et e | SR 1 T 31
(3) Pad F=pY 1| TI @ T ey A ga gl

BELIG TEIE: R

w1 (80-84): FufiRad SFeR Ty ¥ 1 iR = fau e usi &1

80.

IR

A AR M, P, Q R S, T 3R V 3IHT-3(eT a5 & & AT
SR el fob S pH A B

PITTH AP IR QI ST, M I TBI SIS IRM P
S Pad A A1 S TEY HR AR TR &1 R QI & anT
YR &, Sfian 6 7 Beab1 81 P Paa & I B ga & W
81'S, R 3RV SHI ¥ YR §1 IR T gl fad 88 fobat
B8 3R S BT ao 54 fbe 21

R 3R T & fiF fbam AT &2
MmTH 2) 3
(3) IR @
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81.

82.

83.

84.

(5) fReffa et fovar o1 wepar

?ﬂTWH\_ﬂRWZTﬂ% @R 3R s F IoH S s T 3R
?

(1) 22 fran (2) 10 fran

(3) 15 far (4) 32 fran

(5) STH Y P T8I

Q¥ fram o W &2

(1) P T Q) &

@a @) &=

(5) IR

V BT GHIRIT aor (el 7 faram gme

(1) 49 (2) 58

(3) 62 (4) 45

(5) 51

fFofafea & @ o9 g8 v e g2

(DR )V

B)M 4T

(5)Q

frdw (85-87): TR T U ud® Uy H Q) / I Hua RRU MU § 3R 39

85.

86.

87.

TTe & e 1 3R 11 3T T §1 o) fou TN Sy Bl I
AT 8, YA & 3 IHERIG: 91d a9l & Iy R aRa gl
Tt freeef o1 Ue SR R o o o R MU eyt & ¥ o
1 e fQu T wUAl ¥ dIfhd TU ¥ IR HRAT B,
AR W 1A T2} Bt JU&T BT ¢ | Sare o

(a) I Faa Y | SR HRaAT B

(b) TfE Faat FswY 11 STIR0T Rl &

(c) T Tl e 1 a7 éwm%l

(d) e 7 A Frsepef 1 SR A & ||er|=ﬁwm‘cn |

(e) Afe Freapef 1 TR fsesef 11 SFF SFTERUT vt B

HYT: T geft TR €, Pis Ueht ST R ©
TS T TWHYR §

e i. oo WU ueh T8 §

i. ¥ S99 AR &

Ma @) b

(B)c 4)d

(5) e

Y Gft Te S B, P FU TR
i faR T8

. i. 3o Uc dar S IHar g

ii. IS T Uc ST 8

(1 a )b

(3)c @) d

(5) e

PFYT: $Y B Ha g B3 B sIol T8l 8|
i ST a7

forspe: i. o1 O Ba T R

ii. g Qielf BY BT g BT TS B

(M a )b

@3)c 4 d

(5) e

frd=r (88-90): FEfiad THeRT AEurE! ¥ U 3R = faw 7T usi =1

IR

T 3rerT-3ra difeat & i Rarfza St ard uRear & 3me
TR 1 K, P Bl THAR a1 81V, M SIS &1 T, G 1 foar
BIR GHAMEIR VHI A&l M BT had U ST 8 3R S
AT TSI I S, K Bt Ui/ e g1 p, R A faaiza 81 G, v &1
St/ HioT B

8s. IR X, SHIAR, A G, X W FA Ffa g2
(1) B (2) HetorT/HiST
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89.

90.

91.

92.

(3) Hcitof/Aioh (4) 4TS
(5) §g

P, S A HY Tefd g2

OEER @) g

(3) ®foH (4) 99
(5) ==

IRaR & fhd o 82

(1) TR (2) =
@)U (4) 9%

(5) FReffa et fovar o1 wear

'FREQUENCY' Tt | 3i&RT & W fham Wie 8 fome o=
Ia & 3eR € S b sl qufAren e # S &

B’

(1) 88 (2)dH
3) IR @A
(5) Ui

'COMPLAINTS' ¥1sg H, afe 2req & Tt 31eRt &1 3l qufaren
%A A 9 Y 90 RIS A § HafRd far T g1 A, Tsg |

foram 31eR e Wee & THH FRUTY A 35 82
(1) B a1 T
@a 4) &=

(5) I T 3ifrw

foréar (93-97): Fuffad STHeR! Tyt ¥ ue 3ik = feu mu usit 1

93.

94.

95.

96.

97.

98.

IR

T I et 1T H 93 € 3R I Gt IR B 3R T Rl B
KT%&@WW%W@N%H@?Q&‘&%@@H@%
IF, WP QR 3R 3B M R 93d1 8, S T &1 Fbead
TSR 21 W & o1 3R IR Q e Al 78l 98 &1 uig @ Q
3R s P TS B, S W1 & 3ifcd RRY § q T R S5 gl

F o 318 3R foha ol 48 87
(U‘Tﬁf (2) Uh
(@) =
(S)sﬂﬁ@raﬁéﬂﬁ
it ¥ 3 o a1 ufad & siftm I 8R W dadr 82
mT 2w
B)Q @F
(5) K
fFofafea A Y PH I F & 1% 3R 8 F ”IF W dod1 87
(1S @ w
3)K @7
(5)Q
e M, Q & T 3R W VIF W dT ], A F T4 F M BT
fufy s gifte
(1) 378 3R G (2) 913 SR
(3) Td Y (4) T8 SR AR
(5) T 3R AT
e & fpdm a9 82

(1) 14 (2 12
(3) 18 (4) 15
(5) 13

47 B &1 0F He B, e 2/ F 27 af ™M W B iR ggpd
%ﬂﬁﬁﬁawméla‘n T IR gopd & o9 fba &=
?

(1.) 14 (2) 12
3) 21 4) 13
(5) 15
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fadar (99-100): fRafafad SHER! @ ¥ ue iR = fou mu usit
PHIIR S

fig T A IR & Roeht = & 9% Rig EI STUDY

3d g T ¥ I 3 RS 3 ERG M T

Ugadr g1 fig M ¥ 98 g gea § 9iR fig B a% uged & fa MATERIAL KIT
9 forit =i 81 R a5 foig B ¥ fig s a% ugem & fomw <féor
F1 3R 5 feh gaar g1 foig s @ a8 ufdd &t 3R 7 et T
fig ) 9% UgadT §1 SUS 91g I a1¢ A form ok fig D
T UgdA & 1Y 6 fobeit gaan 81 3fdd: 98 fig P d® Ugad &

fore ufgm &t &R 2 foth gaar g1
99. a3l faig 3R fig P & i we Bt R e?

(1) 7.%%511 (2) 2v2 g o

3)9 (4) 8v2 proachto

(5) 8 fepet ?‘é‘"s‘g"“'m 3 . GENERAL

5 GLISH

100. fdgB & Wey o foig D frwr famm & 87

(1) af&or (2) <f&or-ufgH

(3) STR-gd (4) TRor-gd

(5) I
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Ans.1(3)
Ans.2(2)
Ans.3(4)

Ans.4(3)

Ans.5(4)
Ans.6(4)

Ans.7(1)

Ans.8(3)
Ans.9(1)
Ans.10(4)

Ans.11(3)

Ans.12(4)

Ans.13(2)

Ans.14(3)
Ans.15(4)
Ans.16(1)

Ans.17(2)

Ans.18(4)

Ans.19(4)

Ans.20(2)

Ans.21(5)
Ans.22(2)
Ans.23(4)
Ans.24(3)
Ans.25(2)
Ans.26(5)

Ans.27(3)
Ans.28(2)

Ans.29(4)
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English Language

According to the sentence “bilateral” will be used
as it means “two-sided”.

According to the sentence “withdraw” will be
used as it means “remove / take away”.
According to the sentence “was” will be used as
the sentence is based on past.

According to the sentence “line” will be used as
the meaning of the phrase “on the line” is “at
risk”.

According to the sentence “issued” will be used
as the meaning of “issue” is “hand out/ give out”.
According to the sentence “extend” will be used
as it means “continue / stretch/go on”.

According to the sentence “operated” will be
used as the meaning of “operate” is “function /
work”

According to the sentence “intervention” will be
used as it means “interference”.

According to the sentences “admitted” will be
used as the meaning of “admit” is “confess”.
According to the sentence “pursued” will be
used as the meaning of “pursue” is “follow”.

It is clearly mentioned in the passage that the
economic policies of the British Raj caused a
severe decline in the handicrafts and handloom
sectors, due to reduced demand and dipping
employment.

In the passage it has been clearly mentioned
that under British rule, India's share of the world
economy declined from 24.4% in 1700 down to
4.2% in 1950.

It has been clearly said that urbanization
generally remained sluggish in British India until
the 1920s, due to the lack of industrialization
and absence of adequate transportation.
Meaning of the word “impoverishment” is misery
/ insolvency / poverty

Meaning of the word, “sluggish” lethargic /
indolent / slow

Opposite meaning of the word “captive” is, free /
let loose / unlocked

In the last paragraph of the passage it is clearly
mentioned that Steel, mining, machine tools,
telecommunications, insurance, and power
plants, among other industries, were effectively
nationalized in the mid-1950s

It is clearly said in the second paragraph that
Urbanization generally remained sluggish in
British India until the 1920s due to the lack of
industrialization and absence of adequate
transportation

It is clearly stated in the 2nd paragraph in the
passage that it also established a system of
railways and telegraphs, a civil service that
aimed to be free from political interference, a
common-law and an adversarial legal system.
Opposite meaning of the word, “coincided” is,
disagree / diverge / deviate

The arrangement is EHADFBGC

The arrangement is EHADFBGC

The arrangement is EHADFBGC

The arrangement is EHADFBGC

The arrangement is EHADFBGC

Meaning of the word ‘augur’ is- portend / foretell/
herald

Meaning of the word unequivocal is — obvious /
apparent / and opposite is obscure

The meaning of the word benign is, gentle, kind,
benevolent and opposite is malignant

Meaning of the word mandate is- permission, /
order / directive

Ans.30(1)

Ans.1(2)
Ans.2(1)
Ans.3(2)
Ans.4(3)
Ans.5(1)
Ans.6(3)

Ans.7(2)

Ans.8(1)

Ans.9(1)

Ans.10(4)

Ans.11(3)

Ans.12(1)

Ans.13(2)
Ans.14(2)
Ans.15(3)

Ans.16(2)

Ans.17(2)
Ans.18(4)

Ans.19(3)
Ans.20(3)

Ans.21(2)
Ans.22(3)
Ans.23(3)
Ans.24(3)
Ans.25(4)

Ans.26(2)
Ans.27(3)
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Meaning of the word “ tweak” is pull, force, press
and the opposites —push/ refrain,

HINDI
T
U B H rABerdr
NETSNIE
Iwgad aHr
THY BT AGUATT
faeyor 9 vreg B0 € S AET ud qdAH ereal ar
Tq i aNfe wrea faRINOT € | SRRl U e
PRIl 2 | aTRT § dedor & forg e’ faRor
BT YA B3N B |
q1q Ud faaRt & forRaa sfafaa fafr 2 21
AT 51 B © Sidid flfd g9 8l & | Rl
gy & e g ol &1 w3 fhar Siem 2
ATl MR aTell TRy ¥ |
aifRa v 30 U™ & AR 991 § Seie
R &% vy 781 81 'S U9g | 994 a1l
g 2 Hiferd, <fdw, vRe, Uew, aftw wd
ifde enfe |
qreie auf dq] ¥ | el Wi €, 3 e E- g
9 9 9 3 3 F ¥ ARag gt g 3 3,
3, 1, W,HIWHCJDN?}T':_*[' "IIR‘ICH-IWCHC'HC?«I

1

B

T fAdedl § el g e § Fifdh ga9d
e s e 8 Wahd 2| ‘ddey ANTeg vk @
STafds qaTell vd gedrd Al s & |

YU’ T IR B | el TgHd IR & D]
TEA ool BT | QT U Tl &I M 8, Jald
HRUAT AT BT 96T E |

‘38 qH UK § $ADT AgHd 3G BET | B
(@) & dead Bl BRI AT S WTST H7
NEANCE S

AT BT THH ITH BRI 31161 Tedd ¥Tes © |
HYR BT TIT FY BT |

WY FE FGY IR, IFT AT Y MR || TE qad
HYFT IR BT IATER ¢ |

FIER H T8 fdeqgel 9T €1 & O S fuarsd |
are s R 2

arqg ' 2| o aradt | g8, YEaHAT afe &t
HATT B |

AHRIE B dTell BIs T & [

gl

HINA TR Pg I B 2|

AEHIER T |

I T

+ AT T |

T AT Aq & O o, HHIRT I T |
Hemarad faemer 8, ARTEr gy |9 2

T P T AEPR B |

TR BT A Il dee 8, TADT AT 31k
[T B |
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Ans.28(2)
Ans.29(3)

Ans.30(3)

Ans.31(3)
Ans.32(4)

Ans.33(1)
Ans.34(2)
Ans.35(4)
Ans.36(1)

Ans.37(2)

Ans.38(1)

Ans.39(2)

Ans.40(2)

Ans.41(4)

Ans.42(4)

Ans.43(3)

Ans.44(4)

Ans.45(2)

Ans.46(4)
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Safd e A & yaiy 2 |

AR TR BT 37f SR’ 2| WDl b 3fef
A FERaATe” | 2 |

TR T {‘IHI“IIQﬁ NESERRIN % QET YHIOT hT
FATAT wreE |Iew AT W B

Quantitative Aptitude

30x1=30
30x1.5=45

45x2=90

90x2.5=225

225x3=675

_13’ _23, _33, _43, _53

+46, +92, +184, +368, +736

=122 -102, -82 -2, -42

? 1 3/8 B 5/6 BT 2/7 =790
?2=790%(8/3)x(6/5)x(7/2)

= 79x8x2x7

= 8848

= (550 BT 140%)+(400 BT 12.5%)+(306 BT 33.33%)
= 770+50+102

= 820+102=922

=15929+v3364+V4761

=77+58+69=204

\676 BT 2/10 = V64 BT 130/?

26 BT x/10 = 8 BT 130/x

X2 = 400

x=20

(762+3)x (80 T 120%)+2116=?

?= (762+3)x(80 BT 120%)+2116
?=254x96+2116=26500

= 4898-6234+5325-1294

= 4898+5325-6234-1294

= 10223-7528

= 2695

? = (280 BT 20%)+(V729x9)+123

?7=156 + 243 + 123

7= 422

D & ST = 64.8 WG

YTHIOT SE-AT = 26% x 64.8 A = 16.85 ARG
E &1 SFRRET = 48.3 A1

THIOT SE-AT = 24% x 48.3 ARG = 11.6 A
D Ud E &I Gl UTHIUT SFEST = 16.85 + 11.6 ARG
= 28.45 G

A S SHEAT = 87.6 WG

TTHIT YT = 40% x 87.6 = 35.04 ARG

B &I SHY®AT = 78.4 ARG

TN SE-AT = 32% x 78.4 = 25.08 ARG

C P S = 72.4 TG

YT SEERAT = 25% x 72.4 = 18.1 AT

D & ST = 64.8 WG

YTHIOT SE-AT = 26% x 64.8 ARG = 16.85 ARG
E I SRS = 48.3 TG

YTHIOT SE-AT = 24% x 48.3 ARG = 11.6 A
F &1 SRS = 28.2 A9

YT SERAT = 20% x 28.2 ARd = 5.64 ARG
G &1 SFET = 22.2 WG

YTHIOT SFE-AT = 15% x 22.2 ARG = 3.33 A
TYUBR, A B YT S8 i 3|
TER A DI Hd SGEH = 87.6 ARG

YT SEERAT = 40%

TTeftor SFRIRAT = 40/100 x 87.6 = 35.04 = 35 ARG
af 2011 #,

G & TG = 22.2 TG

YT FERAT = 15% x 22.2 ARG = 3.33 ARG
F &I SRS = 28.2 WG

YT FERAT = 20% x 28.2 lakh = 5.64 ARG
3R = 2.31 A

Ans.47(3)

Ans.48(1)

Ans.49(3)

Ans.50(3)

Ans.51(2)

Ans.52(2)

Ans.53(4)

Ans.54(4)

Ans.55(3)

Ans.56(2)

Ans.57(2)

Ans.58(5)

Ans.59(1)

Ans.60(3)
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FARUN B,

B P ST = 78.4 ARG

O] SFERAT = 32% x 78.4 = 25.08 ARG = 25.1 ARG

32.123x41.98x23.9=?

?7=32x42x24

?7=32256

(9/3)+ (5/27) + (3/243) + (7/9)=?

?7=(243+15+1+63)/81

?7=322/81

?7=4

353.02x1.93-242.34+(565/5)+130.923=?

706-242+113+131=?

?2=708

?= (1298 T 16.6%)-(898 BT 10.8%)

2 =17/100 %1300 — 11/100 x900

?=221-99

?7=122

?7=34.867-15.975-8.1491-1.543

?7=35-16-8-2

?7=35-26

?7=9

foreit & ot 76T g I Bt FUTEAT = (3/5)x(1/6)x(3/7)

=3/70

Zaf S FHTEAT = 1- (3/70)

= 67/70

gm%miwaﬁimrﬂémm; 5x, 6x 3R 7x
[

Y & §9d = 5x x (75/100) = 3.75x

gm%uﬁ,waﬁ?mﬁwm: 3y, 3y 3R 2y

[
QAP TAR UMY, 3y = 3.75x ®
y = 1.25x
gty S Ufa=id = [(7x-2y) 7x] x 100
= [(7x -2 (1.25x)) 7x] x 100 = 64.28%
U &1 a IABAT =80 (80 BT 15%) + 5x(80 BT 20%)
= 80x12+5x16 = 1040
g%mma@mnﬁ:%mﬁwﬁaf YRT P

= 8+4=12 fopdi/der
(4x+12)/(5x+12) = 7/8
32x+96=35x+84

3x=12

X=4

Jh 3T BT 3R = (5x-4x) = x = 4 T4
HMAT I

16P-P=(Px6xR)/100
15P=6PR/100

R=250

HHEAT I

SI=(1250x 10x2)/100

SI1=250

HET | = A&

HMAT I

Xx(110/100)x(125/100) = 550
X= 400 3T

HHAT I

Xx(118/100) — Xx(88/100) = 90
30X/100=90

X=300

HET I < HET

HHEAT I

=16

20 FUA/fhal &1 7B =12x1/6=2 fFar
HHEAT I

L
N
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RU T, Y =90x(88/100)=79.2
TM1=90x(12/100)=10.8
(79.2/(10.8+x))=72/28
79.2x28=72(10.8+x)

X=20 Tex

HEAT 11> HEAT
Ans.61(3) HATI:

14x6=42xX

X=2

HEAT I

70x30=50xX

X=42

HAT I > HHAT I

Ans.62(1) HHATI:
X(x+2)=7743
x2+2x-7743=0
x%+89x-87x-7743=0
X(x+89)-87(x+89)=0
(x-87)(x+89)=0
X=87, -89
1) x=87
TSI faud Team =x+2=89.
HEAT 1
AT o ) e 100 @
" Te TReAT 75 § SR g T 73 3
TR =(75-73)/75% 100
= 2/75x100
=8/3
HET | > AT I
Ans.63(1) = ((13000%6)+(20000x6)):((13000x6)+
(5000%6)):((13000x6)+(10000x6))
= (78000+120000):(78000+30000):(78000-+60000)
= 198000:108000:138000
=33:18:23
P oY =148000
AP o™ = (33x148000)/74=66000
B &7 fe=T = (18x148000)/74=36000
C T fRT = (23x148000)/74=46000
Ans.64(5) HauRumg =8
@l 3P d YR = (TTT, HHH)

=2
ST U HHTaHT = 2/8 = 1/4
Ans.65(3) M AFTd G =100
a9 sffdrd e =150
39 fashd g =(90/100)x 150
=135
ZHfeIT Ay Ufa=Id = 35%
ey S IR = 100x 40 x 35/100
= 1400 39

Reasoning Aptitude

Ans.(66-70):

Penguin/
Crane owl Hen Kingfisher Parrot
Peter/Alex  John Vacant Adam Philip Peter/Alex

b
A R D R S

Smith Mathew Max Paul Vacant Davis
Peacock Eagle Penguin/  Sparrow Macaw

Kingfisher

Ans.66(4)
Ans.67(3)
Ans.68(5)
Ans.69(3)
Ans.70(5)
Ans.71(2) 800 Norway 400 Russia 50 Israel 90 Sudan 1200
=800 + 400 - 50 x 90 + 1200
=2-4500 + 1200
= 1202 - 4500
=-3298
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Ans.72(5)

©
-

NEMYE
97| 615115 3/13112]12{|1]|0
AFGHANISTANJG ’
=ZUTSZMRHGZ M YPPosite
Ans.74(5) AHMEDABAD

AA ABDDEHM
Ans.75(3) Real, Earl

-y
Y

Ans.73(4)

Ans.(76-79):
@ =
# >
& =
% <
© =

Ans.76(2) A=BsD<EsG2H;F<AG=)J
LF<E->YJd(F<A=B<D<E<GzH)
ILJ>B->HIB<D<E=<G=))

Ans.77(3) P>QsR<S=T>Wz2[, K=SslL
I.Q>W -> I (Q<R<S=T>W)
IL R<L->¥9d (R<S <L)

Ans.78(5) A=BsD<EsG2H;F<AG=]
.LA>B-> 3 (A =B)
I.D=J->3{IAD<E<G=))

Ans.79(4) XsY=Z<U; Z<V
LV>X-> 3 (X<Y=2Z<V)
ILV=X-> 3T (X<Y =Z<V)
Qe I w1 & 11, vaX & FT H Th R oial
SR g1, A s | a1 v g

Ans.(80-84): V< R<P <S(54)<Q<T(88)<M

Ans.80(2)

Ans.81(2)

Ans.82(3)

Ans.83(4)

Ans.84(3)

Ans.85(1)

(= ) )0

Ans.86(2)

colour

Ans.87(4)

Q-

M(+) PH=R(+)

L

SEO=Vi+—K=T)

|

G(+)

Ans.(88-90):

Ans.88(1)
Ans.89(4)
Ans.90(3)
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Ans.91(5)
|. .. ] DNA DAILY NEWS
FREQUEMNCGY “LANALYSIS
Ans.92(1) , ‘ ——— e —
COMPLAINTS rivmen 1A
ACILMNOPST
Ans.(93-97):
K w T Q F 5
S O A 4
Ans.93(5) RO s
Ans.94(5) i e
Ans.95(2)
Ans.96(2)
Ans 97(4) =] 10 Important News Brand Promotion __Mobile Screen Friendly

Ans.98(4) SfFTTRY 21 AR RTI

oz R S
ns.(99-100): J

M 9 km B

3 km

S CET ﬁIITTDET!IAL KIT

6 km

Pe—D
2 km

Ans.99(5)
Ans.100(2) Modern

woach fo
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